

# STC South Camberwell Cricket Club 2018/ 19 Annual Report

# Table of Contents

Honour Board	
Office Bearers	5
Sponsors 2018/19 Season	6
Premierships	7
Hall of Fame	
Legends Life members	
Special Awards	8
Secretary's report	9
President's Report	
Season Reports	
First XI	
Statistics: First Eleven 2018/19	
Team Records: First Eleven 2018/19	
Team Records: First Eleven	
Second XI	
Statistics: Second Eleven 2018/19	
Team Records: Second Eleven 2018/19	
Overall Team Records: Second Eleven	
Third XI Statistics: Third Eleven 2018/19	
Team Records: Third Eleven 2018/19	
Overall Team Records: Third Eleven	
Fourth XI	
Statistics: Fourth Eleven (LOC) 2018/19	
Team Records: Fourth Eleven 2018/19 (One Day)	
Team Records: Fourth Eleven 2018/19 (Two Day)	
Overall Team Records: Fourth Eleven	
Veterans First XI	
Veterans First XI Statistics 2018/19	
Veterans Second XI	
Veterans Second Eleven Statistics 2018/19	
Junior Summary	
Junior Awards	
Statistics	

# Honour Board

SEASON	PRESIDENT	SECRETARY	FIRST XI CAPTAIN	CLUB CHAMPION	BEST CLUBMAN	BASIL FINNIGAN MEDALLIST
1967/68	A Yarwood	A Burt	A Burt	D Harrison		
1968/69	G Mazoletti	K Burt	A Burt D Harrison			
1969/70	G Mazoletti	K Burt	A Yarwood	M Cain		
1970/71	G Mazoletti	K Burt	A Yarwood	M Cain		
1971/72	A Burt	K Burt	A Yarwood	J Martin		
1972/73	A Burt	K Burt	A Yarwood	M Cain		
1973/74	A Burt	K Burt	K Burt	J Martin		
1974/75	A Burt	K Burt	K Burt	B Finnigan		
1975/76	A Yarwood	M Wignell	K Burt	G Wignell	K Burt	
1976/77	A Yarwood	M Wignell	K Burt	M Robertson	M Yarwood	
1977/78	P Sandilands	P Spithill	P Sandilands	G Wignell	B Brell	
1978/79	P Sandilands	P Spithill	P Sandilands	G Wignell	E Fitzwilliam	
1979/80	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1980/81	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1981/82	P Sandilands	E Fitzwilliam	G Wignell	G Wignell	P Pawsey	
1982/83	P Sandilands	P Pawsey	P Sandilands	G Wignell	P Stewart	
1983/84	R Fitzwilliam	P Pawsey	B Cain	B Cain	B Docherty	
1984/85	R Fitzwilliam	P Pawsey	K Burt	C Hoare	Mrs D Burt	
1985/86	K Burt	Mrs M Smith	K Burt	C Hoare	M Drew	G Walker
1986/87	K Burt	P McHenry	C Hoare	C Hoare	D Zennaro	P Wignell
1987/88	K Burt	P McHenry	B Docherty	G Wignell	P McHenry	G Wignell
1988/89	K Burt	E Fitzwilliam	B Docherty	B Docherty	P Docherty	B Docherty E Fitzwilliam G Wignell
1989/90	I Constable	E Fitzwilliam	B Docherty	M Learmonth	J Murray	M Learmonth
1990/91	I Constable	E Fitzwilliam	B Docherty	M Learmonth	R Molloy	G Walker
1991/92	B Docherty	R Molloy	B Docherty	B Docherty	P McHenry	G Walker
1992/93	B Docherty	K Burt	P Docherty	P Williams	R Hoich	P Williams
1993/94	B Docherty	K Burt	P Docherty	P Williams	M Molloy	J Hall C Hoare
1994/95	B Docherty	S Ross	B Docherty	B Docherty	Mrs K Burt	C Wood
1995/96	G Chard	S Ross	P Warcarba	B Docherty	A Purcell	B Docherty
1996/97	G Chard	S Ross	P Warcarba	P Warcarba	A Daly	P Warcarba
1997/98	S Ross	S Waller	P Warcarba	P Warcarba	A Tracey	R McDowall D Burt
1998/99	S Waller	S Weerasinghe	S Joyce	B Docherty R McDowall	J Di Stefano	M Thackwray
1999/00	R Corbett	P Zennaro	B Docherty	B Docherty	P Lynch	M Pivetta
2000/01	R Corbett	P Zennaro	S Joyce	D Sotiriadis	P Morrison	L D'Astoli

SEASON	PRESIDENT	SECRETARY	FIRST XI CAPTAIN	CLUB CHAMPION	BEST CLUBMAN	BASIL FINNIGAN MEDALLIST
2004/02						
2001/02	G Chard	P Zennaro	P Fisicaro	B Docherty	R Corbett	S Hoy M Pivetta
2002/03	G Chard	P Zennaro	P Fisicaro	S O'Connell	P Fisicaro	S Hoy
						J Krohn
2003/04	Dr T Bach	P Zennaro	P Fisicaro	S O'Connell	G Chard	L D'Astoli
2004/05	Dr T Bach	N Fennessy	S O'Connell	S O'Connell	A Michaelides	M Mitchell
2005/06	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	P Zennaro	D Smith
2006/07	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	R&K Corbett	N Hodgson
2007/08	S Hoy	Mrs K Zennaro	S O'Connell	L D'Astoli	S O'Connell	L D'Astoli
2008/09	P Zennaro	Mrs K Zennaro	S O'Connell	Tom Bach	M Francis	A Ross
2009/10	P Zennaro	Mrs K Zennaro	S O'Connell	S O'Connell	Mrs K Zennaro	P Morrison
2010/11	D Sharpe	Mrs K Zennaro	S O'Connell	S O'Connell	J Krohn	S O'Connell
2011/12	D Burt	Mrs K Zennaro	L D'Astoli	S O'Connell	Dr T Bach	P Lynch
						J Murray
						S O'Connell
2012/13	D Burt	T Sharpe	L D'Astoli	S Fairbrother	B Docherty	S Fairbrother
2013/14	M O'Connell	D Sharpe	S Fairbrother	S Fairbrother	Tom Bach	P Morrison
2014/15	M O'Connell	D Sharpe	Tom Bach	Tom Bach	M Francis	A King
2015/16	B Coyle	Mrs A Craine	Tom Bach	S O'Connell	S O'Connell	G Douglas
2016/17	B Coyle	Mrs A Craine	L D'Astoli	L D'Astoli	Mrs A Craine	A D'Addazio
2017/18	P Lynch	J Terrill	S Fairbrother	M Thomas	D Sharpe	L Colman
						M Williams
2018/19	Dr Tom Bach	Mrs A Craine	S Fairbrother	C Dooley	M Mansour	C Dooley

# **Office Bearers**

Position	Representative
President	Dr Tom Bach
Senior Vice President	Brad Craine
Junior Vice President	Bernard Docherty
Secretary	Andrea Craine
Treasurer	James Terrill
General Committee	Peter Lacki
General Committee	Xavier Wigg
General Committee	Steve Ross
General Committee	Dominic Hando
General Committee	Mark Shallue
General Committee	Paddy Bradner
General Committee	Mathew Thomas
General Committee	Mathew Doran
General Committee	Tom Casha
Veterans Coordinator	Tom Bach
ECA Delegation	
ECA Delegate	Tom Bach
ECA Delegate	Brad Craine
Senior Captains	
1 XI	Sam Fairbrother
2 XI	Fabian D'Addazio
3 XI	Nick Fennessy
4 XI	Marc Mansour
Veterans 1 XI	Patrick Hall
Veterans 2 XI	Pete Martin
Selection	
Chairman of Selectors	Peter Morrison
Selector	Alex King
Selector	Paddy Brandner

# Sponsors 2018/19 Season

Sponsor	Contact	Telephone	Web/ email	E-mail
JA Cain Real Estate	Bryan Cain	9805 2900	www.jacain.com.au	Bryan@jacain.com.au
Bendigo Bank	Kathy Koulouris	9885 2666	www.bendigobank.com.au	Kathy.Koulouris@bendigoadelaide.com.au
Merkon Construction	Peter Mercoulia	9555 3999	www.merkon.com.au	peterjnr@merkon.com.au
Sandilands Exports	Peter &Tom Sandilands	0417 576 242 Peter	sandilandst@gmail.com	sandilandst@gmail.com
Back in Motion	Adrian Quinn	9889 3903	www.backinmotion.com.au/practic <u>e/camberwell</u>	a.quinn@backinmotion.com.au
Enki Pools	Scott Tymkin	9899 2395	http://enkipools.com.au/	scott@enkipools.com.au
Purcell & Purcell Barristers and Solicitors	Anthony Purcell	9741 3777	www.purcellandpurcell.com.au	anthony@purcellandpurcell.com.au
Behan & Behan Accountants and Lawyers	Edwin Behan	9836 5559	www.behan.com.au	ebehan@behan.com.au
Ashburton Meats	Paul Klooster	9885 8118	www.ashburtonmeats.com.au	paul@ashburtonmeats.com.au
Silvan Australia- Sherlock Wheelbarrows	Michael Tricarico	9215 2710	www.silvan.com.au	mj.tricarico@silvanaust.com

# Premierships

I ESCA "A" Grade Matting
I ESCA "A" Grade Matting
XI ESCA "C" Grade Matting
(I ESCA "E" Grade Matting
(I ESCA "E" Grade Matting
I ESCA "A" Grade Matting
(I ESCA "C" Grade Matting
(I ESCA "D" Grade Non Turf
I ECA Burt Shield
XI ECA "A" Grade God
XI ECA Burt Shield
(I ECA "B2" Grade Blue
XI ECA One Day Division 2
I ECA Macgibbon Shield
XI ECA Burt Shield
I ECA Macgibbon Shield
I ECA Macgibbon Shield
I ECA Macgibbon Shield
(I ECA Wilson Shield
I ECA Macgibbon Shield
XI ECA Burt Shield
I ECA Macgibbon Shield
rans XI ECA Fielden Shield
XI ECA Shaw Shield
(I ECA Carr Shield

# Hall of Fame

## Legends

5	
2002	Kevin Burt
2002	Basil Finnigan
2002	Peter Sandilands
2002	Greg Wignell
2002	Alan Yarwood
2007	Chris Hoare
2007	Michael Wignell
2012	Bernard Docherty
2017	Rohan McDowall
2017	Rohan Worthy

# Life members

1975	Alan Burt					
1975	Alan Yarwood					
1977	Kevin Burt					
1977	Peter Sandilands					
1978	Robert Fitzwilliam					
1980	Michael Wignell					
1984	Eugene Fitzwilliam					
1990	Bernard Docherty					
1991	John Krohn					
1991	Bryan Cain					
1991	Joe Cain					
1993	Paul McHenry					
1993	Peter Pawsey					
1995	Justin Murray					
1995	Tim Allen					
1999	Patrick Docherty					
1999	Basil Finnigan					
2005	Anthony Michaelides					
2007	Tim Bach					
2008	Garry Chard					
2010	Paul Zennaro					
2011	Richard Corbett					
2012	Kylie Zennaro					
2013	Stephen Ross					
2014	Andrew Murray					
2016	Peter Lynch					
2018	Steve O'Connell					

# Special Awards

Basil Finnigan Medalist	Callum Dooley
Best Clubman	Marc Mansour
Most Improved Player	Oscar King
Best First Year Player	Mike Van Der Meer
Stuart Hamilton Award	Zac Gucciardo

# Secretary's report

Dear member,

On behalf of President Dr. Thomas Bach and the Committee it gives me great pleasure to table the 2018/19 STC South Camberwell Cricket Club Annual Report.

This report is the 52<sup>nd</sup> to be presented to members and includes reports from our 4 senior teams, two Veterans teams and segments of our extensive junior program, including the Woolworths Cricket Blast program. Also included are comprehensive player statistics.

As always, this report would not be possible without the contributions of many, so I would like to thank those who contributed- senior and veterans captains, junior coaches and managers, members of the junior operations team and members of the committee. A very special thank you goes to Jack Krohn for his work preparing the statistical information for this report, and his tireless efforts every year maintaining the historical records for our club.

I would like to take this opportunity to thank the committee for their support and commitment throughout the season, and the executive committee- Tom Bach, Brad Craine, James Terrill and Bernard Docherty- for their passion and dedication to guiding the club to great success.

It is only with the ongoing support of the committee, club leaders and members that I have been able to continue serving the club I love. It has been a privilege to serve this club as Secretary and to be part of our historic success in 2018/19.

Andrea Craine Secretary

# **President's Report**

This past year saw the most on-field success in STC's history. Four premierships in senior grades is an incredible achievement and is a testament to the spirit and commitment of our members, families, community and sponsors. This report primarily pays tribute to those who have shown such commitment and offers some personal reflections on the season and our future.

This season, I was supported by a highly capable and enthusiastic executive committee. Andrea Craine is an outstanding secretary and her dedication to STC is inspiring. The unwavering support she provided me and anyone at the club who was willing to lend a hand can't be commended highly enough. Brad Craine's hard work as Vice President, particularly early in the season set us up strongly and has paid dividends in terms of the success we experienced. James Terrill generously shifted from secretary to treasurer to fill out what we saw to be a more balanced executive. I'm glad he accepted the change, his continuous attention to detail was reassuring and the strong financial status tabled as a part of this annual report highlights his abilities. Bernard Docherty took on the Junior Vice Presidency role for the 7th consecutive year. In late November, he celebrated the first Saturday of this seven years he did not need to be at the club to open up. This speaks to the bolstering stocks of engaged junior parents, including our many team coaches and managers, but in particular the Junior Operations Committee of Pete Martin, Tim MacMillan, Anne Tricarico, Emma McMahen and Steve Harrison.

This year's general committee is one of the youngest in our club's history. Finding young people to commit to playing cricket is becoming a challenge for every club, asking these young people to commit to official roles is another step altogether. STC is lucky to have such a dedicated group of young people giving their time so generously - it's a huge asset for our future. Thanks to Matt Doran, Xavier Wigg, Tom Casha, Mark Shallue, Paddy Brandner, Matt Thomas, Pete Lacki, and Steve Ross. I'd especially like to thank Dom Hando, who contributed an enormous amount of work this year as a general committee member. Dom organised all of the social events, including coordinating Thursday and Saturday dinners and has taken on a number of the less glamorous jobs like organising senior teams lunches.

At our request, Pete Morrison agreed to be chairman of selectors and showed initiative well beyond the scope of the role. With the support of Paddy Brandner and Alan King, they were instrumental in not only filling teams each week, but selecting three premiership sides.

We found strong leaders to captain each of our four sides. Sam Fairbrother, Fabian D'Adazzio and Nick Fennessy each struck their own balance between enjoyment and performance. For the First XI this brought our third T20 premiership (the only ECA club to have done so), not to be outdone, the Second and Third XIs also ended the season with premierships - an incredible achievement. Marc Mansour's contribution as Fourth XI captaincy, as well as his consistently energetic presence and assistance around the club earned him the well-deserved Best Clubperson honour.

The Veterans component of the club has been a wonderful addition over the past four seasons and this year saw it develop further. We added a second Veterans team (the Legends), which although started as a potentially shaky concept, finished a very solid success thanks to the work of Pete Martin, Ben Parkinson and Tim Bilston. Pat Hall captained the first veteran side and led it to STC's first Vets premiership, which was well-celebrated. It's a delight to have the Vets at STC, the family atmosphere at Nettleton on Vets' Sundays typifies so many of the values that we pride ourselves on. As the Vets go from strength to strength, it is important to recognise the effort that Beau Coyle and Paul McMahen put into to initiate the concept.

In a season with four premierships, highlights to reflect upon choose themselves. Yet it is the stories behind the premierships that are the most illuminating and satisfying. To mention only a few: The first XI's T20 premiership side consisted of 10 players that played juniors at STC across almost 30 years, forging indelible intergenerational friendships - no doubt one of the reasons the team has seen such T20 success in the face of much more (self-)fancied opposition. The Second XI side had two father-son combinations (Dochertys and Kings) and two brothers (D'Addazios) win premierships together. The Third XI had 10 players win their first senior premiership and Nick Fennessy captain premierships almost 20 years apart. The recently-arrived Veterans got a long-standing monkey off their back by winning STC's first premiership at Nettleton Park - which drew the biggest crowd to ever see a cricket game there (or perhaps anywhere in our history).

Premierships are not easily won (so we are told), but it is even more difficult to cultivate an environment where these types of memorable stories are so naturally and numerously embedded in on-field success. This exists through a legacy of work and commitment, which has never been easy. As a volunteer organisation, our experience is a direct result of what we contribute. While many cricket clubs in our area are struggling, we maintain strength in seniors, juniors, veterans, social and financial senses. This will remain challenging and I encourage our members to face up to this challenge and continue to assist STC in whatever capacity they can.

Tom Bach President

# **Season Reports**

## **First XI**

Macgibbon Shield

It was very much a case of our batting letting down our bowling this year in the First XI which meant we unfortunately missed finals for the second year in a row. We started off in blistering form, thumping Boroondarra in Round 1 thanks to a partnership of 255 from Tom Bach and Mark Shallue. However after sitting comfortably at 3 wins and 1 draw after 4 games a series of low scores with the bat meant we did not take advantage of strong efforts with the ball and in the field. Highlights for the remainder of the year included an outright win over BUC and a direct hit run out from youngster Tom Docherty that secured a tie against Trinity Willison where we bowled them out for 65!

Our bowling line-up, spearheaded by Callum Dooley and Ben Rodan, did a phenomenal job all year, with Callum taking the most wickets in the comp during the home and away season and claiming the Basil Finnigan Medal. Xavier Wigg was another star performer, contributing on a weekly basis with both bat and ball. Despite modest returns from our batsmen, Mark Shallue and Beau Coyle in particular were standouts.

On a much brighter note, the team participated in the ECA-wide Kookaburra T20 Cup, a competition that the club has won twice before (in a competition only running 10 years). In what is effectively a knock-out competition, we made it though the pool stage of four teams undefeated despite not playing our best cricket. Very strong batting in the auarter final against Edinburgh and the semi-final against Mont Albert helped us win both games relatively comfortably - despite our apparently note-worthy impediment of being 'syntho-warriors'. The final against Old Carey, oddly held at Old Carey's home ground, allowed our bowlers to dominate and our fielders to add some highlight reel moments. Excellent spells from Ben Rodan (3 for 8 from 3 overs) and Lawrie Colman (2 for 6 off 4 overs) allowed us to be only chasing 69 for victory. Beau, as he had all year, showed his new-found batting ability and anchored the innings (40 from 60 balls) to see us reach the target comfortably - a THIRD ECA T20 premiership for STC! The support we had throughout the competition, especially on Tuesday evenings at Hartwell, then at the final was extraordinary and is certainly a major factor in our onfield T20 success. For the players, being able to share our success with our Club is really what makes winning so special. We look forward to playing in the State-Wide competition at the start of next season, with our first game against a team from the Box Hill Reporter.

This will be my last season as club Captain; I have loved every minute of being club Captain/VC over the past five out of 6 seasons. I'd like to thank everyone who has helped me out along the way.

Thank you to the Peter Morrison and the selectors, Tom Bach and the committee and everyone else who contributed to the club this year. Here's to another great season in Red in 2019/20!

### Sam Fairbrother Captain

## Team Awards

Batting Award	Mark Shallue 340 runs @ 28.33
Bowling Award	Callum Dooley 42 wickets@ 10.88
Club Champion	Callum Dooley
T20 Player of the Year	Mark Shallue
KD Burt Medal	Ben Rodan

## Statistics: First Eleven 2018/19

Player	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Bach Tom	13	321	13	24.7	0	1	157	-	-	-	-	-	6	3	0
Brandner P	9	141	8	17.6	0	0	23	2	129	64.5	0	2/18	6	-	-
Colman L	8	42	5	8.4	0	0	14	12	224	18.7	1	5/20	4	-	-
Coyle B	11	272	12	22.7	3	0	76	8	169	21.1	0	2/11	2	-	-
Dooley C	12	68	11	6.2	0	0	23*	42	457	10.9	5	6/32	1	-	-
Doran M	2	1	1	1.0	0	0	1	1	68	68.0	0	1/25	0	-	-
Douglas H	13	89	5	17.8	0	0	28	19	332	17.5	1	6/48	4	-	-
Fairbrother S	11	166	8	20.8	0	0	48*	7	199	28.4	0	2/29	2	-	-
Hando D	12	200	12	16.7	0	0	38	0	8	-	0	0/8	7	-	-
O'Connell S	7	68	6	11.8	0	0	32	-	-	-	-	-	0	-	-
Rodan B	12	23	6	3.8	0	0	7	14	265	18.9	0	2/19	3	-	-
Shallue M	12	340	12	28.3	2	1	139	-	-	-	-	-	0	34	2
Thomas M	9	66	5	13.2	0	0	33	12	271	22.6	0	4/35	2	-	-
Wigg X	13	285	13	21.9	1	0	83	26	319	12.3	1	5/5	4	-	-

## Team Records: First Eleven 2018/19

Wkt	Partners	Runs	Opposition
1	D Hando & X Wigg	66	Burwood Uniting Canterbury
2	D Hando & P Brandner	43	Deepdene Uniting
3	Tom Bach & M Shallue	255	Boroondara
4	B Coyle & Tom Bach	44	Burwood Uniting Canterbury
5	S O'Connell & M Shallue	55	Boroondara
6	S Fairbrother & R Flint	34	Burwood Uniting Canterbury
7	S Fairbrother & B Coyle	43	Trinity Willison
8	S O'Connell & M Thomas	37	Deepdene Uniting
9	B Coyle & B Rodan	32	Boroondara
10	B Coyle & A D'Addazio	11	Clifton Hill

Team's highest score	6/411	Boroondara
Team's lowest score	65	Trinity Willison
Highest score against	7/231 сс	Clifton Hill
Lowest score against	49	Burwood Uniting Canterbury
Highest individual score	Tom Bach	157 vs Boroondara
Highest aggregate	M Shallue	340 @ 28.3
Best bowling performance	C Dooley	6/32 vs BUC
Most wickets in season	C Dooley	42 @ 10.9
Most catches in season (fielder)	Tom Bach, P Brandner, D Hando	6
Most catches in season (keeper)	M Shallue	29
Most stumpings in season	M Shallue	2

## Team Records: First Eleven

Wkt	Partners	Runs	Opposition	Season
1	R MacDowall & R Moore	170	Mulgrave	1997/98
2	K Burt & P Liddy	219	AYC	1970/71
3	G Wignell & P Sandilands	280	Glen Iris	1975/76
4	B Finnigan & M Robertson	213	Canterbury	1976/77
5	J Martin & W Pendry	194	Doncaster	1973/74
6	W Pendry & J Sullivan	224	Glen Iris	1974/75
7	G Wignell & B Finnigan	135	Ashwood	1980/81
8	M Duggan & E Fitzwilliam	113	South Camberwell	1987/88
	B Docherty & A Michaelides	113	Box Hill South	1990/91
9	D Harrison & G Burt	120	Wattle Park	1971/72
10	A Nicholson & D Spithill	82	B'wood Utg C'bury	2002/2003

Team's highest score	5/503	Kooyong	1998/99
Team's lowest score	34	Park Orchards	1969/70
Highest score against	8/395	AYC	1980/81
Lowest score against	33	Wattle Park	1967/68
Highest individual score	228	Mark Robertson	1976/77
Highest aggregate	762	Tom Bach	2014/15
Best bowling performance	10/52	John Aspinall	1973/74
Most wickets in a season	68	Michael Learmonth	1989/90
Most catches in a season	37	Kevin Burt	1968/69
Most stumpings in a season	18	Kevin Burt	1972/73

# Second XI

Shaw Shield

Every season, you enter round 1 filled with optimism and dream that this will be your year; this will be the season you win the flag. Unfortunately, most of the time that dream doesn't come true. Put simply, premierships are hard to win.

We started off our season just about as well as one can. We posted 9/445, thanks to a 143 run opening partnership between father and son duo Alex King (87) and Oscar King (63), followed by a batting master class from Beau Coyle (147\*). In reply, St Pauls fell 273 runs short, in the first of many impressive team-bowling performances. Our bowling was the backbone for the season, bowling oppositions out for under 100 on 5 occasions and only letting them score 200 once.

Our batting was quite consistent throughout the year, being led in particular by Alex King, Oscar King, Matthew Williams, Bernard Docherty and Dion Di Battista, all of who making regular contributions. Bowling was a similar scenario with wickets evenly spread most weeks, Adam D'Addazio (7/21), Brendan David (6/32) and Lawrence Colman (5/20) with individual honours during the season.

Our fielding improved as the games went on, thanks in particular to younger players in the team, Thomas Docherty and Joel Lagastes.

We entered the Christmas break mid table, with 4 wins, 3 losses and a washout. After Christmas we started to hit our straps, winning the remainder of the home and away games, leaving us finishing second. In the semi-final we took on Glen Waverley. Oscar King (72) and Bernard Docherty (56\*) led our batting as we made 187. Glen Waverley only managed 112 in reply with Bernard taking

5/20, supported by Adam D'Addazio (3/41) and Brendan David (2/6).

The grand final saw us take on St Pauls at Hays Paddock for the premiership. We bowled first, restricting them to 138. Harry Douglas, Adam D'Addazio and Brendan David took 3 wickets each and one to Thomas Docherty.

Alex King (41) and Oscar King (45) put on 88 to start our innings, before Matthew Williams (14), Daniel O'Connell (6) and Thomas Casha (26\*) saw us home with just 4 wickets down. It was a great reward and satisfaction for all the boys who have put a lot in over the past couple seasons.

The reasoning for our success this season, was that we played as a team. We never relied on the same people to get the big runs each week, nor take a big bag of wickets. When called upon, everyone chipped in throughout the year.

It has been a great pleasure to captain this team over the past few years and what an amazing feeling it was to finish off the season with the ultimate success.

Go saints!!

Fabian D'Addazio Captain

#### **Team Awards**

Batting Award	Oscar King 280 runs @ 56
Bowling Award	Brendan David 16 wickets @ 12.50
Team Champion	Fabian D'Addazio
KD Burt Medal	Oscar King

## Statistics: Second Eleven 2018/19

Player	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Atkinson R	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Bandash N	3	2	1	2.0	0	0	2	1	46	46.0	0	0	2	-	-
Casha T	12	152	9	16.9	0	0	33	3	61	20.3	0	2/11	4	-	-
Craine B	2	28	2	19.0	0	0	26	0	4	-	0	0/4	0	-	-
Coyle B	2	147	0	-	0	1	147*	7	130	18.6	0	3/27	0	-	-
D'Addazio A	9	10	2	5.0	0	0	8	20	245	12.2	1	7/21	1	-	-
D'Addazio F	13	108	8	13.5	0	0	24	-	-	-	-	-	2	23	2
David B	13	101	4	25.3	1	0	60*	20	262	13.1	1	6/32	5	-	-
Di Battista D	11	137	6	22.8	1	0	52*	15	224	14.9	0	3/14	4	-	-
Docherty B	10	165	4	41.3	1	0	56*	11	149	13.6	1	5/20	1	-	-
Docherty T	14	112	10	11.2	1	0	53	13	247	19.0	0	3/25	7	-	-
Flint R	9	63	4	15.8	0	0	29*	9	171	19.0	1	5/27	1	-	-
King A	13	367	8	45.9	1	1	101*	0	26	-	0	0/9	7	-	-
King O	12	386	7	55.1	3	0	76*	-	-	-	-	-	4	1	0
Krohn A	9	73	7	10.4	0	0	26*	15	259	17.3	0	4/19	3	-	-
Lagastes J	9	155	6	25.8	0	0	36*	5	97	19.4	0	2/13	4	1	0
O'Connell D	5	58	5	11.6	0	0	36	-	-	-	-	-	3	-	-
O'Connell M	2	4	1	4.0	0	0	4	-	-	-	-	-	1	-	-
Sierakowsli L	1	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Williams M	13	443	11	40.3	1	1	127	-	-	-	-	-	3	-	-

## Team Records: Second Eleven 2018/19

Wkt	Partners	Runs	Opposition
1	O King & A King	143	St Paul's
2	AKing & M Williams	70	AYC Harlequins
3	AKing & M Williams	58	Mount Waverley Uniting
4	M Williams & F D'Addazio	57	St Paul's
5	O King & B Docherty	94	Glen Waverley
6	A King & H Douglas	74	Glen Waverley
7	B Coyle & J Lagastes	86	St Paul's
8	D Di Battista & J Lagastes	29	St Paul's
9	B Coyle & L Flegeltaub	97	St Paul's
10	B Docherty & C Henderson	43	Mount Waverley Uniting

Team's highest score	9/445 cc	St Paul's
Team's lowest score	119	St Paul's
Highest score against	9/215 cc	Mount Waverley Uniting
Lowest score against	57	Monash
Highest individual score	B Coyle	147* vs St Paul's
Highest aggregate	O King	280 @ 56.0
Best bowling performance	A D'Addazio	7/21 vs Monash
Most wickets in season	A D'Addazio	18 @ 9.3
Most catches in season (fielder)	A King	7
Most catches in season (keeper)	F D'Addazio	23
Most stumpings in season	F D'Addazio	2

## Overall Team Records: Second Eleven

Wkt	Partners	Runs	Opposition	Season
1	S McCulloch & A Nicholson	265	North Balwyn	1999/2000
2	B Finnigan & R Lagreca	209	Mulgrave	1984/85
3	Julian di Stefano & S Hoy	218	Preshil	2007/08
4	P Docherty & K Lynch	179	Ashwood	1981/82
5	M O'Connell & B Craine	144	Glen Waverley Cougars	2015/16
6	Tom Bach & M Molloy	190	B'wood Utg Canterbury	2003/04
7	F D'Addazio & B Craine	141	Preshil	2008/09
8	M Crossin & P Wignell	126	Box Hill South	1979/80
9	K Lynch & A Deith	134	Burwood	1984/85
10	P Docherty & D Stoney	146*	R'dale-B'dara	1997/98

Team's highest score	7/463	East Doncaster	1979/80
Team's lowest score	37	Box Hill South	1987/88
Highest score against	588	St Kevins	1975/76
Lowest score against	14	North Balwyn	1972/73
Highest individual score	250*	Basil Finnigan	1979/80
Highest aggregate	568	Richard Corbett	1999/2000
Best bowling performance	9/18	Paul Aspinall	1972/73
Most wickets in a season	51	Stephen Hoy	2001/02
Most catches in a season	32	Julian di Stefano	2001/02
Most stumpings in a season	6	John Krohn	1986/87
	6	Patrick Spithill	1980/81
	6	Doug Baguley	1972/73

# Third XI

Carr Shield

This year, cricket was all about having fun and enjoying our Saturday afternoons. After all, if we are going to don the whites each week, we may as well enjoy it. Last season was a tough one for all the 3X1 as the team was graded well above where it should have. This resulted in a winless season.

This season, we dropped back to E-synthetic with the added bonus only needing to play 60 overs each week- it's far easier to get players for this shortened version of the game. Also, a lot gentler on older players bodies. What was even better is that most matches didn't even last the full amount of allotted overs. The season consisted of 13 games with 6 one-day games, 6 two-day games and 1 bye.

We had our bye in the first game, so it was only in week 3 that we eventually strode out on the park. Our first match, Warner vs Trinity, saw the return of Cropley, Evans and Dougherty from being two seasons away. It also saw the emergence of the younger Sallmann (Tim) playing his 1st season game with his brother Richard. The old guard of Fennessy, Douglas, Terrill also present. First game/ first win.

Second match we headed over to North Balwyn. We saw the introduction of two, Miracle Mike Van Der Meer for his 1st game with the club. Having played state league baseball, we knew there was some big hitting fierce and strong throwing to be had over the season. In a twist of fate we ended up playing North Balwyn 4 times this season. We are happy to report we never lost to them in any of

these games. One team from the competition was put into a higher grade, which resulted in a changed structure, meaning that we had the hardest draw of all. We ended up playing the bottom teams only once during the year and the top teams 2 or three times. But that didn't phase us. We played the top team

Mazenod twice during the season and they beat up on both occasions. Unlucky for them they were defeated in the semi by North Balwyn. The only other game we lost during the season was to Monash. We were pretty much third on the ladder for the whole season and it was apparent early on that we would probably play Monash in the Semi – and that's exactly what happened.

A few games were noteworthy during the season:

- Trinity in Rd 2 Fenno scoring 84, Cropley 58 and Tom Doc reaching 53
- North Balwyn in Rd 3 The Gooch scoring 47, just falling short of the half ton...and boy was he not happy and Richard Sallmann taking 3/35
- Mazenod in Rd 4 the Gooch finally making the half ton (65) and the return of Jordy (his only game this season but good to see him back) with Gazza taking a wicket
- Clifton Hill in Rd 5: Param, Morro and Missile Mike wiping off the required 99 runs in only 11 overs. Joey taking 2 wickets (he has always said he is the best O'Connell Bowler!) and Doova's one over that went for 12 balls. Funky Gibbons taking 3/19

- Mazenod in Rd 6: their captain taking 4/0 in 2 two wicket maiden overs. People just forgetting what the big piece of wood they were holding was used for! Funky Gibbons forth straight duck-still no runs for the club.
- Monash in Rd 7: The Back Panther Rick Dougherty taking 4/30 with his slow straight on spinners (should have been 5!) and Oscars self-flagellating 76n.o – brilliant innings and hilarious to watch
- Glen Waverley in Rd 8: watching the opposition wicker where a some ran out his father when the dad was on 95. Brendan David scoring 60n.o. and Morrow whacking 44
- Monash in Rd 9: Funky Gibbons finally breaking the run drought. The roar could be heard in the next suburb
- Glen Waverley in Rd 10: Copley bashing 55 in 5 overs and Missile Mike scoring his maiden 50 (ending up on 60 after being dropped about 5 times)
- North Balwyn in Rd 11: Pete Williams cracking 127 and Alex King reaching 101 before we declared. Going for the outright Harry Douglas took 6/48 and Fenno taking 4 catches with the gloves. We just missed out on the outright
- Making Lunches for the 2's and messing around with their sandwich fillings!

3 games during the season stood out above all others- Rd 12 vs North Balwyn, Semi Final vs Monash and Grand Final vs North Balwyn.

North Balwyn in Rd 12 - as we couldn't move form 3 rd on the ladder we decided to have a bit of fun for the game. We welcomed back Steve Ross who I hadn't played with in about 10 years. We decided to rotate the gloves every three overs – so everyone got to keep during the match. We also chose to bowl in 1 over spells. Running in alphabetical order, 1 over each. When we bowled 11 overs we went back to the top and started again. North Balwyn were a little frustrated with our tactic and were not too happy. They would have thought that at the close of their innings having reached 276 off their 35 overs, they would have been safe. But the Field of Dreams is just that. We passed them in 32 overs.

Joey O'Connell scored a magnificent 89, Missile Mike added his second half ton (including 6 sixes) and the partnership of Dougherty & Tiz was amazing that steered us home. Tiz's top edge for 6 off a bouncer was almost the shot of the day. As I said to the team at the end of the day – ' how good is cricket. Today we disrespected the opposition, we disrespected the game of cricket and we still won!".

Semi Final vs Monash- for the 3 rd time this season we visited Tally Ho Reserve. We won the toss and batted (because that was what you are supposed to do). Having an umpire for the first time this season was interesting and they put their mark on the game with 6 LBW's given during the match (3each team so it was evenly ready but both captains were triggered which was not well received by either). We plodded out way to 192 from 57 overs. The best of the batters being Joey with 39, Cropley making 28 and Little Sauce (Connor Henderson) hitting 25. It was a about a par score on the bigger over, so we were quietly confident we could get the job done. With our 2's making the finals too we had to make space in the team for Krohn, Di Battista and Lagastes. Unfortunately this was at the expense of Tadpole, Rick and Nathan. But the inclusions

were pivotal in the scheme of the match and each played their part well. The bowlers were the key in this match. Richard Sallmann was supreme taking 3/19 from 8 overs, Dion, cleaned up the tail in his 2nd spell with 3/15. Krohn only took 1 wicket but was superb at tying the opposition down during his 19 overs. But the game breaker was that man Cropley – from 4 overs 3/8. They were looking at a run a ball from 10 overs out, but the bowlers did their job magnificently and we dismissed them in the 56th over, some 30 runs short. In the GF we go!!!!!!

Grand Final vs North Balwyn - this being the 4th time we had played this team. But the stakes were higher this time. North Balwyn had finished 4th and in their Semi Final had knocked off Mazenod, so it was 3rd vs 4th. We lost the toss and had to bowl..., which was not unexpected and would have been the same if we had won the toss anyway. Unfortunately Funky Gibbons was asked to miss the GF because Russ Flint was included. Richard Sallmann opened and in true Richard Sallmann style he was miserly with his bowling. During the day he bowled 13 overs, with his 2nd spell after lunch being brilliant - 1/22 with 3 maidens - it was delightful to watch. Russ Flint also opened the bowling, his first ball being a head high full toss and the umpire giving the signal that any more and he couldn't bowl again. Their opener, Keyhoe, was the worry for us. He'd had back to back hundreds (167 & 138no) in the past two games. But Russ wasn't deterred by this and had Keyhoe's measure when he was on 3 - hitting the top of off stump. We were pretty buoyed by this, as we knew there wasn't much batting apart from Keyhoe. But like us North Balwyn's other sides had made finals too and this meant they dropped a player down too. Flint, Krohn, Lagastes and Van Der Meer all bowled well and gave limited changes for the batters to score - at lunch we had them 3/94 after 36 overs. After lunch Russ and Rich continued to do the job- Rich stopping runs and Russ getting wickets. Russ finished his 11 overs with 5/27. Their only real run maker was the quy who had dropped down into the team. He took to us in the final ten overs a bit. And after being dropped twice in slips when he was on zero, he went onto score his maiden century in the last over of the day and lifted North Balwyn to a total of 9/199.

We found out during the week that North Balwyn had had 5 teams in Finals – one tea went out in their semi, 3 others had lost their respective Grand Finals, so it was only team that was still alive... but not for long.

Our time to bat and we had 4 of the top 12 batters in the competition playing. We decided to try and keep a left/right batting combination going for as long as we could, so Fenno (the top scorer at that time) stood aside for the left handed Andrew Krohn and opened with Morrow. This tactic was so that their bowlers couldn't get settled and to see off their only bowler- Streader. The boys took the score along to 44, when both went out in quick succession. Cropley and Missile Mike (right/left combo) took over from here and pushed the score also to 89 when Cropley gave a relatively easy caught and bowled. Joey joined Mike and reached 107 before Mike was bowled by a cracker. At lunch the game was evenly poised but Russ and Joey took the game away from North Balwyn with some excellent hitting. Joey dismissed on 40 when the score was 128 – but he had broken the back by then. We had batters in the shed and plenty of overs left. Lagastes and Russ (again left/right combo) brought the game home and in pretty quick time too. It only took 49 overs to pass the required amount. Both remaining not out - Flint on 29 and Lagastes on 36. Russ was given Man of the Match by the umpires, but the Kev Burt Medal went to Lagastes.

Job done – we won the Grand Final. Party time!

For me, it's been 16 years between winning flags. Both times as captain and both times batting second. It's been great to lead such a great bunch of guys and have a barrel of fun whilst doing it.

Thank you to the Committee for the faith in putting me as captain. A well-made decision as it turned out. Thank you to everyone who played in the team this year, everyone made an impact- each and every person. We look forward to trying to back it up next season and hope that everyone comes back and makes it another successful campaign.

Nick Fennessy Captain

#### **Team Awards**

Batting Award	Nick Cropley 274 runs @ 30.44
Bowling Award	Richard Sallmann 17 wickets @ 13.82
Team Champion	Nick Cropley
KD Burt Medal	Joel Lagastes

## Statistics: Third Eleven 2018/19

Player	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Burt D	1	0	1	0.0	0	0	0	2	25	12.5.	0	2/25	0	-	-
Childs L	1	-	-	-	-	-	-	0	10	-	0	1/10	0	-	-
Cropley N	9	274	9	30.4	2	0	58	7	135	19.3	0	3/8	4	-	-
Curry A	1	24	1	24.0	0	0	24	-	-	-	-	-	0	-	-
David B	2	60	0	-	1	0	60*	4	62	15.5	0	2/28	2	-	-
Di Battista D	2	6	1	6.0	0	0	6	4	105	26.2	0	3/53	0	-	-
Docherty T	1	53	1	53.0	1	0	53	0	14	-	0	0/14	1	-	-
Dougherty R	7	72	4	18.0	0	0	26*	9	104	11.6	0	4/30	3	1	0
Douglas G	5	8	4	2.0	0	0	5	3	62	20.7	0	2/10	0	-	-
Douglas H	1	-	-	-	-	-	-	6	48	8.0	1	6/48	0	-	-
Evans N	6	49	2	24.5	0	0	19*	0	23	-	0	0/23	4	-	-
Fennessy N	14	259	9	28.8	1	0	84	0	31	-	0	0/31	1	9	0
Flegeltaub L	3	36	3	12.0	0	0	35	2	55	27.5	0	1/9	0	-	-
Flint R	2	29	0	-	0	0	29*	5	27	5.4	1	5/27	0	-	-
Francis J	1	-	-	-	-	-	-	1	34	34.0	0	1/34	0	-	-
Gibbons R	12	36	5	7.2	0	0	16	7	227	32.4	0	3/19	3	-	-
Gucciardo Z	5	134	4	33.5	1	0	65	4	91	22.7	0	2/32	2	-	-
Henderson C	8	47	4	11.8	0	0	25	9	147	16.3	0	2/6	4	-	-
Huff P	2	15	2	7.5	0	0	12	0	12	-	0	0/12	0	-	-
King A	1	101	0	-	0	1	101*	0	17	-	0	0/17	0	-	-
King O	2	76	0	-	1	0	76*	-	-	-	-	-	0	-	-
Krohn A	3	12	3	4.0	0	0	6	4	116	29.0	0	2/23	1	-	-
Lacki P	4	9	1	9.0	0	0	8*	0	12	-	0	0/12	0	-	-
Lagastes J	3	71	2	35.5	0	0	36*	1	30	30.0	0	1/7	2	1	0
Mansour M	1	4	1	4.0	0	0	4	-	-	-	-	-	0	-	-
McKenzie J	4	34	2	17.0	0	0	28*	-	-	-	-	-	0	3	0
Mehta P	3	42	3	14.0	0	0	25	0	21	-	0	0/21	2	-	-
Morrison P	8	247	7	35.3	2	0	75	1	31	31.0	0	1/27	1	-	-
O'Connell J	8	183	6	30.5	1	0	89	2	37	18.5	0	2/13	1	2	1
Porozny J	2	5	0	-	0	0	5*	0	26	-	0	0/26	1	-	-
Ravindranath R	1	-	-	-	-	-	-	2	36	18.0	0	2/36	0	-	-
Ross S	1	-	-	-	-	-	-	0	23	-	0	0/23	0	-	-
Sallmann R	11	42	3	14.0	0	0	20	17	235	13.8	0	3/19	1	2	0
Sallmann T	10	11	2	5.5	0	0	9*	7	207	29.6	0	2/15	1	-	-
Terrill J	8	69	1	69.0	0	0	45*	1	50	50.0	0	1/25	2	-	-
Thomas M	1	3	0	-	0	0	3*	3	48	16.0	0	2/14	0	-	-
Van Der Meer M	10	9	240	26.7	2	0	60	5	229	45.8	0	2/12	4	-	-
Williams M	1	127	1	127.0	0	1	127	-	-	-	-	-	1	-	-

## Team Records: Third Eleven 2018/19

Wkt	Partners	Runs	Opposition
1	Z Gucciardo & N Fennessy	85	Mazenod O C
2	A King & M Williams	225	North Balwyn
3	N Fennessy & T Docherty	131	Trinity Willison
4	J McKenzie & B David	89	Glen Waverley Cougars
5	O King & N Fennessy	39	Monash
6	R Flint & J Lagastes	65	North Balwyn
7	J O'Connell & J Terrill	77	North Balwyn
8	J Terrill & R Dougherty	52	North Balwyn
9	L Flegeltaub & P Lacki	34	Mazenod O C
10	R Gibbons & R Sallmann	23	Monash

Team's highest score	8/284	North Balwyn
Team's lowest score	141	Monash
Highest score against	5/276 сс	North Balwyn
Lowest score against	94	Boroondara
Highest individual score	M Williams	127 vs North Balwyn
Highest aggregate	N Cropley	274 @ 30.4
Best bowling performance	H Douglas	6/48 vs North
		Balwyn
Most wickets in season	R Sallmann	17 @ 13.8
Most catches in season	N Cropley, N Evans, C Henderson, M Van Der	4
(fielder)	Meer	
Most catches in season	N Fennessy	9
(keeper)		
Most stumpings in season	J O'Connell	1

Overall Team Records: Third Eleven

Wkt	Partners	Runs	Opposition	Season	
1	B Finnigan & R McGregor	178	Adult Deaf	1978/79	
2	M Sheehan & N Hodgson	259	Mazenod OC	2002/03	
3	J Krohn & L Fisicaro	241	S A Waverley	2001/02	
4	N Hodgson & P Lynch	244*	Mazenod O C	2001/02	
5	G Walker & A Murray	201	Bulleen	1984/85	
6	A Purcell & D Kerr	138	Glen Iris	2007/08	
7	P Morrison & K Balhara	151	Glen Waverley	2014/15	
8	S Joyce & D Burt	147	Nth Balwyn	1996/97	
8	H Douglas & L Sierakowski	147	East Doncaster	2012/13	
9	A Classon & M Funnell	98	S A Waverley	2002/03	
10	K Lynch & J Murray	103	Glen Iris	1985/86	

Team's highest score	9/479	Kooyong	1992/93
Team's lowest score	42	Edinburgh, Boroondara	2017/18
Highest score against	4/431	Mulgrave	1977/78
Lowest score against	14	Burnley	1977/78
Highest individual score	189	Tim Allen	1986/87
Highest aggregate	770	Basil Finnigan	1978/79
Best bowling performance	8/25	Kevin Lynch	1981/82
Most wickets in a season	69	Basil Finnigan	1978/79
Most catches in a season	21	Doug Baguley	1974/75
	21	Tim Allen	1993/94
Most stumpings in a season	5	Mick Drew	1983/84

# Fourth XI

Minahan Shield

I was given the honour of captaining for the first time this year with the fourth eleven. The 4XI this year continued the great tradition of previous years with a focus on playing fathers together with their sons. We had 8 father son combos this season including my son Jack and I, and to continue the family feel we also had a combination of 6 brothers playing together. We had a good season, which saw us playing 17 games, and we finished with a respectable 8 wins, 9 losses and a draw due to heat. It wasn't enough to make finals but the dream was still alive right till the end of the season, we finished in  $6^{th}$  place.

We were lucky enough to put a consistent team of lads together towards the end of the season, this wasn't always the case as pre-Christmas saw us call in all sorts of favours and we had many debutants, club legends and young gents from the juniors join us for a game or two. We had 58 men take to the field this season, which at times was challenging but was highly enjoyable!

Speaking of debutants this year saw the introduction of 14 new players including my son Jack to the club. Being able to play weekly with Jack was such an incredible moment for me personally, I am so thankful to STC for giving us the opportunity to represent the red. Jack had a good season taking a couple of wickets (2 in one over for a double wicket maiden) and made a few runs. Jack and Ken Boal (he sure can bowl.... and bat) put together one of the best 9<sup>th</sup> wicket partnerships I have ever seen, putting on a massive 75 runs late in the season!

We can't talk about club debutants without mentioning the legend Paul "Stick Ninja" Tesoriero. For those of you who don't know Paul has a disability, however it never stops the stick ninja from giving it everything he has! Paulie this season not only took to the field diving on the ball at every opportunity to save runs but he also made some runs, and more importantly was part of a couple of unforgettable moments in the season. I don't think anyone will ever forget Paulie bowling for the first time in a game, his first ball went for 6 and I thought to myself this could be a long over.... Well little did we know Pauli was setting the batter up. He gave it some flight angling into the leg stump, the batter went for another big leg side slog, the ball went flying off the bat, it was a meter or 2 from the fielder on the rope but little did he know he hit it in the direction of Ro Worthy, a massive dive to his left and it stuck!!! A ripper catch and a first wicket for Paul that got the whole team up and about. It has been an honour to have Paulie play with us this season and his passion and determination has been fantastic. His commitment to the team has helped focus us each and every week encouraging us to give it our all and leave it all on the field.

Enough mushie stuff let's get to a few more season highlights. Round 11 saw us play AYC away and what a game it was, we bowled first and AYC set a decent total of 225, we chased well with Ben Tricario and Matt Grover both retiring making 50's, however after a few wickets we found both our retired batters back in together. Let me set the

scene for you, it was the last over of the day, STC needing 13 for the win, enter Ben Tric! First ball.... Dot, the rest of the over went 4,2,2,4. One ball remaining we must score to win the game, Tricca goes BANG and crashes a 4 through the covers! Truly an epic win and it was so good to see one of our juniors really step up and own the moment.

Runs were hard to come by at times this season but we did have our moments. In the grade the 4XI are in batsmen have to retire at 50, the lads knocked up 9 half centuries with David Martin making 3, Ben Tricario with 2, Morro, Grover, Tom Martin and myself with 1. Dave Martin being the standout with the bat this season finishing the season with 221 runs at an average of 55.25.

Wickets fell left right and centre with 34 wicket takers for the season. Tim Macmillan was the only bowler this season to take a five-wicket hall with a lovely display of left arm swing bowling. It wasn't enough for Tim to take the bowling award away from his son Hamish who took 9 for the season with an average of 19.11. Hamish was closely followed by his opening fast bowler in crime Jackson Reeve who took 8 @ 20.13 and his skipper who chipped in with some leggies to bag 8 also with a far less impressive average. I was lucky enough to be named team champion.

The season was fantastic with many of the lads playing great games; we ended up having 17 individual basil vote-getters which showed we all played well throughout the season. Thanks to all the lads who played in the fourth eleven in 18/19, I can't wait to get back on the stamp again with you all next season.

A special thanks to Dan Burt, Gary Douglas & Carl Nunan who helped me out massively while I was learning the ropes as a captain. The gents always helped me with strategies, field placings and bowling changes. We wouldn't have had such an enjoyable season without you guys and we wouldn't have won many games without your contributions and ideas.

Bring on the 19/20 season.

Marc Mansour 4XI Skipper

#### **Team Awards**

Batting Award	David Martin 221 runs @55.25
Bowling Award	Hamish Macmillan 9 wickets @19.11
Team Champion	Marc Mansour

Player	G	Rns	Out		50	10	Hs	Wk	Run	Avg	5WI	BB	C(F)	C(W)	St
i tayei	ms	i i i i	out	Avg	50	0	115	····	s	Avg	5		C(i )	C(11)	51
Boal E	3	50	3	16.7	0	0	30	0	66	-	0	0/23	1	-	-
Boal K	7	119	5	23.8	0	0	49	4	140	35.0	0	2/9	1	-	-
Briggs J	1	3	0	-	0	0	3*	1	25	25.0	0	1/25	0	-	-
Briggs S	3	50	2	25.0	0	0	26*	1	66	66.0	0	1/23	0	-	-
Brownie J	12	31	5	6.2	0	0	18*	2	76	38.0	0	2/20	1	-	-
Burt D	7	100	7	14.3	0	0	32	3	119	39.7	0	2/15	0	-	-
Colman L	1	14	1	14.0	0	0	14	1	21	21.0	0	1/21	0	-	-
Craine B	1	12	1	12.0	0	0	12	0	4	-	0	0/4	0	-	-
Cropley N	1	11	1	11.0	0	0	11	0	12	-	0	0/12	0	-	-
Douglas G	8	117	6	19.5	0	0	33	3	58	18.3	0	2/13	2	1	0
Douglas H	2	37	2	18.5	0	0	28	0	58	-	0	0/21	0	-	-
Francis J	4	52	3	17.3	0	0	26	4	88	22.0	0	1/11	1	0	0
Francis N	2	38	2	19.0	0	0	20	1	56	56.0	0	1/36	0	-	-
Grover M	7	188	6	31.3	1	0	62*	5	142	28.4	0	3/3	3	-	-
Gucciardo Z	2	10	2	5.0	0	0	6	2	12	6.0	0	2/12	0	-	-
Haikal E	1	27	1	27.0	0	0	27	-	-	-	-	-	1	-	-
Hall C	1	5	1	5.0	0	0	5	2	18	9.0	0	2/18	2	-	-
Harewood B	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Henderson C	1	2	1	2.0	0	0	2	2	12	6.0	0	2/12	0	-	-
Hill K	2	31	2	15.5	0	0	31	-	-	-	-	-	1	-	-
Huff P	1	-	-	-	-	-	-	1	27	27.0	0	1/27	1	-	-
Huggins B	1	0	1	0.0	0	0	0	3	24	8.0	0	3/24	0	-	-
Hunt T	2	20	2	10.0	0	0	10	0	11	-	0	0/11	0	-	-
Lacki P	3	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Lasscock H	3	31	3	10.3	0	0	13	2	27	13.5	0	2/1	0	1	0
Logan B	6	32	5	6.4	0	0	16	3	117	39.0	0	1/16	0	-	-
Lynch M	1	11	1	11.0	0	0	11	0	1	-	0	0/1	0	-	-
Lynch P	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Macmillan H	9	50	5	10.0	0	0	24	9	172	19.1	0	3/17	1	-	-
Macmillan T	2	29	2	14.5	0	0	22	8	58	7.2	1	5/36	1	-	-
Macmillan W	4	16	4	4.0	0	0	6 52*	-	-	-	-	-	0	-	-
Mansour M	15	163	14	11.6	1 3	0	-	8 5	273	34.1	0	2/30	4	-	-
Martin D	8	221	4	55.3	-	-	60*	-	35	7.0	0	4/15		-	-
Martin T McCarthy J	3 1	69 14	2	34.5 14.0	1 0	0	50* 14	2	44 19	22.0 9.5	0	2/44 2/19	1	-	-
McDonald T	1	14	1	14.0	0	0	14	-	-	9.5	-	2/19	1	-	-
McDonatu T McMahen B	2	2	2	1.0	0	0	10	- 0	- 22	-	- 0	- 0/22	0	-	-
McMahen J	1	15	1	15.0	0	0	15	-	-	-	-	-	0	-	-
McMahen P	1	12	1	12.0	0	0	12	-	-	-	-	-	0	-	-
Mishra R	1	3	1	3.0	0	0	3	0	- 17	-	0	- 0/17	0		-
Morrison P	1	57	0	5.0	1	0	57*	1	18	18.0	0	1/18	1	-	-
Moyle G	1	42	1	42,0	0	0	42	-	-	-	-	-	0	-	-
Nunan C	6	103	5	20.6	0	0	45	5	151	30.2	0	1/11	0	-	-
O'Connell J	2	68	2	34.0	0	0	49	-	-	-	-	-	0	-	-
Peteriet J	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Ravindranath R	1	0	1	0.0	0	0	0	0	20	-	0	0/20	0	-	-
Reeve J	7	131	5	26.2	0	0	35*	8	161	20.1	0	2/11	2	-	-
Rodan B	, 1	7	1	7.0	0	0	7	1	17	17.0	0	1/17	0	-	-
Ross S	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Salathiel J	1	-	-	-	-	-	-	2	23	11.5	0	2/23	1	-	-
Sallmann R	1	1	1	1.0	0	0	1	3	10	3.3	0	3/10	1	-	-
Sallmann T	1	0	1	0.0	0	0	0	2	4	2.0	0	2/4	0	-	-
Talj J	1	0	1	0.0	0	0	0	2	32	16.0	0	2/32	1	1	0
Tesoriero B	1	0	1	0.0	0	0	0	0	0	-	0	0/0	0	-	-
Tesoriero P	12	15	10	1.5	0	0	5	3	78	26.0	0	1/8	0	-	-
Terrill J	1	-	-	-	-	-	-	0	17	-	0	0/17	0	-	-
	5	177	3	59.0	2	0	67*	-	-	-	-	5, 1,	0	-	-
Tricarico B	<b>ר</b>														

## Statistics: Fourth Eleven (LOC) 2018/19

## Team Records: Fourth Eleven 2018/19 (One Day)

Wkt	Partners	Runs	Opposition
1	Z Gucciardo & D Perks	45	Edinburgh
2	H McMillan & D Burt	80	St Pauls
3	D Perks & D Burt	44*	Edinburgh
4	G Lasscock & P Nunan	110	St James Malvern Valley
5	H McMillan & K Boal	49	Glen Iris
6	G Lasscock & S Briggs	104	Knox Churches
7	T McMillan & C Nunan	29	St James Malvern Valley
8	R Briggs & S King	28	St Pauls
9	M Jamieson & C Nunan	60	Knox Churches
10	S King & T Sandilands	25*	St Pauls

## Team Records: Fourth Eleven 2018/19 (Two Day)

Wkt	Partners	Runs	Opposition
1	T Martin & D Martin	43	Salesian Old Boys
2	K Hill & D Martin	77	Mt Waverley Uniting
3	B Tricarico & J Francis	48	AYC Harlequins
4	M Mansour & C Nunan	183	Burwood Uniting Canterbury
5	M Grover & W Macmillan	31	Mt Waverley Uniting
6	M Mansour & M Grover	24	Glen Waverley
7	D Martin & S Briggs	27	Salesian Old Boys
8	B Logan & J Francis	35	Salesian Old Boys
9	K Boal & J Brownie	75	AYC Harlequins
10	J Reeve & H Macmillan	26	Mt Waverley Uniting

Team's highest score	9/227	AYC Harlequins
Team's lowest score	78	Glen Iris
Highest score against	4/252 cc	AYC Harlequins
Lowest score against	81	Salvation Army Waverley
Highest individual score	B Tricarico	67* vs AYC Harlequins
Highest aggregate	D Martin	221@ 55.3
Best bowling performance	T Macmillan	5/36 vs Glen Iris
Most wickets in season	H Macmillan	9 @ 19.1
Most catches in season (fielder)	M Mansour	4
Most catches in season (keeper)	G Douglas, H Lsscock, J Talj	1
Most stumpings in season	-	-

## Overall Team Records: Fourth Eleven

Wkt	Partners		Opposition	Season
1	B Craine & A Dhandapani	224*	Deepdene Uniting	2010/11
2	J Krohn & A Hamilton	179	St Barnabas	2007/08
3	M Pivetta & P Docherty	265	Burwood	1999/2000
4	A King & L Flegeltaub	172*	Boroondara	2015/16
5	D O'Connell & K Burt	216	Canterbury	1998/99
6	J Krohn & Andrew Smith	120	North Balwyn	1984/85
7	P Zennaro & M Francis	137*	Ashburton Willows	2007/08
8	G Walker & D Zennaro	107	Donvale	1984/85
9	K Lynch & B Banks-Smith	86	Burwood Uniting	1999/2000
10	T Sandilands & Tom Bach	110	Mulgrave	1998/99

Team's highest score	433	Marcellin OC	2005/06
ream 5 mgnest score	6/433 dec	Ashburton Willows	2003/08
Team's lowest score	29	Burnley CYMS	1985/86
Highest score against	6/476	Heathmont	1991/92
Lowest score against	32	Nth East Jewish	1983/84
Highest individual score	203	John Krohn	1984/85
Highest aggregate	723	John Krohn	1984/85
Best bowling performance	9/48	Chris Wood	1991/92
Most wickets in a season	41	Chris Wood	1991/92
Most catches in a season	16	John Krohn	1984/85
		James Henderson	2012/13
Most stumpings in a season	9	John Krohn	1984/85

# Veterans First XI

Fielden Shield

They say third time's a charm and it certainly was when the Vets made amends for 2 previous years Grand Finals losses.

After some soul searching post last years second last ball loss, we got stuck in for a busy off season and were able to agree to terms with some big-name recruits. These included Harrison, Goodwin, Fleming, Ireland and Duane. This was followed by an arduous pre-season where half of the team met for a net session a week before round 1. It was here, after 20 minutes of rolling the arm over that a plan was hatched to try and bat second whenever we could. There were 2 main reasons for this:

- 1. We had failed in 2 previous grand finals when batting first
- 2. If chasing, we could open up the shoulders try and win the game within 20 overs and raise significant funds for the club by opening the bar early!

The plan worked well for most of the year where a number of games were won within 24 overs, including the Semi Final against Donvale. There was one day where it did not work however, which was not entirely the team's fault. Despite a request by the club not to fixture a game after the St Cecilia's fair, we were forced to travel out to Surrey Hills in Round 2 to face a team we would eventually meet in the Grand Final. After winning the toss and electing to bowl, we should have known we were in trouble when our vice-captain, gun bat and clearly our most sensible person, over celebrated an early wicket causing his calf to explode and force him to sit out a few weeks! As skipper I take full responsibility for not marching my players off the field there and then handing Surrey Hills an easy victory, which eventuated anyway. My only excuse was that I was suffering mental fatigue due to post "fair" activities at Juddy's house, which were similar to Greg Chappell's when he forced his brother to bowl an underarm.

We moved on quickly though, as that was our only loss for the home and away season as we got our act together and played some dominant cricket handing us top spot.

With our first goal achieved of securing a top 2 spot, our eyes were firmly fixed on the big prize. We had strong performances through the year with Judd, Urquhart, Leoncelli, Macmillan, Goodwin, Duane, Lally, Ireland, Fleming all making 40's at various stages. With the ball, our dominant wicket takers were Judd, Leoncelli and Huggins.

Our semi against Donvale at home went as smoothly as we could have hoped, with us chasing 145 down in 17 overs. Now for the big one!

Playing the only team to trouble us for the year, Surrey Hills, on our home deck, we were intent on making history and becoming the first STC Vets premiers. In hot conditions, Surrey won the toss and elected to bat. Our bowling was exceptional with our opening bowlers Leoncelli (3/25) and Huggins (3/33) doing early damage. They were strongly supported by Goodwin (2/20) (who destroyed his AFL nemesis Scott McLaren's off, leg and middle stumps) as well as Judd (1/9). At the half way mark we had bowled Surrey out for 152.

Whilst confident we could make that tally we knew it was not going to be easy as Surrey had a strong bowling outfit, which we had seen when they defeated us early in the season. After a good start we lost a number of quick wickets to be 4 for 63, ensuring we were set for a stressful afternoon! Judd (40 no) was at his usual dominating best and Hall (21) put on a 30 run partnership to get the score to 93 before a few more wickets fell. With 8 wickets down and still 30 runs to get, the adoring STC fans were getting anxious. They should not have as we had 2 cool heads at the crease in Lally (23 no) and Harrison (8 no) who guided us home to victory in a magnificent performance.

Cam Judd was awarded man of the match for his effort with both bat and ball. Not only was it our first Vets flag but the first STC flag at Nettleton. It was a great day for the club and an opportunity for a bunch of old blokes to wind back the clock and party like it was 1999, and that we certainly did!

Thanks to all 16 players who represented our team this year along with our family and friends for their barracking and support.

Pat Hall Captain

#### **Team Awards**

Batting Award	Cam Judd 268 runs @ 134
Bowling Award	Cam Judd 11 wickets @ 13.27
Team Champion	Cam Judd
KD Burt Medal	Cam Judd

#### Veterans First XI Statistics 2018/19

Player	Gms	Rns	Out	Avg	40	Hs	Wk	Runs	Avg	3WI	5WI	BB	C(F)	C(W)	St
Adams C	4	5	1	5.0	0	5	-	-	-	-	-	-	0	0	0
Duane S	5	129	3	43.0	1	40*	3	67	22.3	0	0	2/11	1	2	0
Fleming T	6	126	3	42.0	1	45*	6	89	14.8	1	0	3/22	3	-	-
Goodwin S	6	125	3	41.7	2	40*	6	119	19.8	0	0	2/20	1	-	-
Hall P	8	65	4	16.3	0	21	1	30	30.0	0	0	1/14	9	-	-
Harrison S	5	34	2	17.0	0	19	3	86	28.7	0	0	1/13	0	-	-
Huggins B	8	7	2	3.5	0	4*	9	180	20.0	2	0	3/33	2	-	-
Ireland N	6	151	5	30.2	1	45*	0	39	-	-	-	0/9	2	-	-
Judd C	8	268	2	134.0	5	44*	11	146	13.3	2	0	3/12	2	-	-
Lally S	7	79	3	26.3	1	41*	4	81	20.2	0	0	2/11	1	-	-
Lasscock G	1	1	1	1.0	0	1	-	-	-	-	-	-	0	-	-
Leoncelli A	8	205	3	68.3	4	41*	10	140	14.0	1	0	3/25	5	-	-
Macmillan T	6	70	1	70.0	1	41*	1	52	52.0	0	0	1/12	0	-	-
McMahen P	2	0	1	0.0	0	0	1	25	25.0	0	0	1/25	0	-	-
Toohey D	4	3	2	1.5	0	1*	1	39	39.0	0	0	1/18	0	-	-
Urquhart P	7	130	4	32.5	1	45*	-	-	-	-	-	-	1	-	-
Westmore L	7	29	2	14.5	0	21	3	147	49.0	0	0	2/13	0	-	-

## Veterans Second XI

Edgar Shield

As some of us celebrated the return of our Sunday mornings after the end of another Junior Footy season and the AFL finals were looming soon and large for others, the realisation that cricket season was just around the corner was upon some of us. Particularly since a casual observation of the great numbers of qualified players Halley had at the previous seasons Vets grand final and knowing that the recruitment machine was boding well for the 18/19 season, a suggestion that we may be able to field a second Vets team (who said that?) was taken seriously by the very supportive Vets 'elders' as well as the cricket club.

So after a few conversations with Mayor Docherty, I had a nervous word to Parky and Billo seeking their support to endeavour to get the numbers for a second Vets team to play in Division 5. This, my friends was the birth of the LEGENDS.

Having tacit agreement from a few that they would 'love' to play, have fun, maybe a bowl and bat every 2<sup>nd</sup> weekend over the summer, but more importantly a laugh and a beer with like-minded blokes after a game on a Sunday arvo. As experienced by both Halley and Macca during the previous 4 or so years of the original Vets inception, the Saturday before the first game we had a keen 4 or 5 willing to don the whites, however some phone calls where made and we fielded a team of 11 for our first game against Burnley at their home ground.

Some were putting the whites on for the first time in a long time, some actually for the first time, some of us were meeting for the first time, but that didn't matter, we had a team, won the toss and put them into Bat. Chasing 228, Burnley were quietly confident that they may just register their first ever win. Lucky for them they put on a great spread of afternoon tea, as we were not having anything of their winning ideas and gallantly chased down their score to register the Legends first win of the 18/19 cricket season. Bowling accolades to King, 2/24 and Parky 3/22 however they were solidly supported by 8 other enthusiastic bowlers keeping Burley to the meagre total on what is a smaller ground than Nettleton. Our chase started fantastically with King, Parkinson and Bilston retiring having all exceeded the 40 Maximum, ably supported by Georgiadis 25 and new recruit Nankany not out on 31. A couple of beverages went down well that Sunday afternoon my friends.

Rnd 2 had Billo standing in as Skipper for the absent Martin against Mt Waverley at Nettleton. Again chasing, winning in just 30 overs after having kept the opposition to 7/197, great bowling all round, with special mention to D Shacklock 2/9 and M Hynes 2/14. Our total of 8/201 off 30 overs from major contributors A Braham 41, M Hynes 43 and V Nankany 41.

Invariably the day would come where it would be difficult to get a full compliment of 11 and with the silly season upon us Sunday 11/11 was that day. Clashing with the annual parish golf day and other work commitments we went into the game against Burwood having only 8 for the first 10 or so overs. They kindly let us field first as we new of a players arriving and the ever reliable Billo finishing his golf game and coming over to Burwood Reserve for a bat. Keeping them to 3/155 after 36 we thought we were in the hunt on the big ground, however we fell 25 runs short. Major contributors with the bat where Adams 24 Ret Hurt Hynes 18 and Shacklock 21, while the best of the bowling Shacklock 0/19 of f his 6 overs and Martin 0/8 off 4.

Back at home for the Round 4 clash against Mazenod OC Parkinson was given the skipper duties. Keeping them to 7/244 we had some great bowling from Braham 2/17 off 6 and Lewis 1/21 off 6. A great opening partnership with a pair of perfect scores of 45 from Nankany and Braham got us off to a great start, followed on with a 39 from Lewis and 35 from Parkinson for us to register our 3<sup>rd</sup> win with a total of 7/244 off 35 overs.

The Legends were fortunate enough to be drawn the Marque STC Christmas Party Round 5 game at home against Salesian Old Boys. Batting first in front of a festive atmosphere we posted a disappointing 175, with good knocks coming from King 45 and Parkinson 43, a mention should go out to a particular umpire who shall remain unnamed for giving Martin out to a dubious thigh high LBW. Needless to say Old Salesians' chased down our total with 1 wicket to spare posting 9/177. We nearly pulled off a Christmas miracle win!

Parkinson kept the skipper duties in Martins absence for the Rnd 6 tie against Mazenod OC at home, batting first we posted 227 with retirement knocks from Nankany 41, Braham 40 and the ever reliable Parkinson 42. Mazenod where never in the chase only managing 136 from their 36 overs with Lewis the stand out bowler taking 4/18 off 4.4 overs, ably assisted by Adams and Parkinson who both took 2 important wickets. As round 7 was called off due to heat policy, we went straight into the semi final having finished an impressive 3<sup>rd</sup> in our first year. Our opponents finishing 2<sup>nd</sup> were Old Silesians' who would host us at their Mannix oval campus.

They chose to Bat and we had them 0/49 at drinks, but some great batting late in their innings saw them post a score of 198, with the only wicket being a run out, however Adams nearly pulled off a cheeky Mankad – to be fare the guilty batsman was the best part of 2 metres out of his crease – warning given!!. Standout bowler was D Shacklock giving away a miserly 5 runs from his 6 overs. Our usual reliable opening batters went cheaply until Braham (36) and Mr Reliable Parkinson (42) steadied the ship somewhat. However with 8 an over to get from the last 4 Martin was given out for his 3<sup>rd</sup> LBW in 5 games and the final 4 wickets went for 2 runs. All out for 140.

While the season didn't end as we hoped, we all agreed that it was fun; everybody got a chance to participate and have a beer with mates new and old. From 5 players just before the first game we ended up with 15 players qualified for finals – what a great result and testament to the efforts of the whole team, having had hamstring injuries, side muscle injuries and other old man ailments. We now look forward to next season with excitement and no doubt other new players to welcome into the fold – I'm sure given our efforts to make the semi final in our first year we can go one better next year. Prep the whites Legends - we'll be back!

Thank you to the club for your ongoing support and a big congratulations to Halley and the Vets  $3^{rds}$  on wining the Premiership – a great and well deserved result.

Cheers, Pete o/a The Legends

#### **Team Awards**

Batting Award	Ben Parkinson 209 runs @ 104.50				
Bowling Award	Adrian Lewis 9 wickets @ 10.22				
Team Champion	Ben Parkinson				

Veterans Second Eleven Statistics	2018/19
-----------------------------------	---------

Player	Gms	Rns	Out	Avg	40	Hs	Wk	Runs	Avg	3WI	5WI	BB	C(F)	C(W)	St
Adams N	6	66	3	22.0	0	24*	2	108	54.0	0	0	2/8	0	-	-
Alberts S	1	4	0	-	0	4*							0	-	-
Bilston T	7	75	5	15.0	1	40*	0	145	-	0	0	0/10	0	-	-
Bond M	3	27	3	9.0	0	18	1	51	51.0	0	0	1/23	0	-	-
Braham A	5	171	2	85.5	3	45*	3	97	32.1	0	0	2/17	0	-	-
Georgiades A	4	39	3	13.0	0	25							1	-	-
Hynes M	6	78	4	19.5	1	43*	2	39	19.5	0	0	2/14	1	-	-
Kent J	3	14	1	14.0	0	14	2	38	19.0	0	0	1/6			
King A	3	109	1	109.0	2	45*	2	80	40.0	0	0	2/24	0	-	-
Lewis A	4	113	4	28.3	0	39	9	92	10.2	2	0	4/18	0	-	-
Livens S	4	6	3	2.0	0	4*	1	66	66.0	0	0	1/16	0	-	-
Martin P	5	36	5	7.2	0	11	1	106	106.0	0	0	1/15	0	-	-
Nankany V	7	199	3	66.3	3	45*	0	28	-	0	0	0/28	2	-	-
Parkinson B	7	209	2	104.5	4	43*	9	181	20.1	1	0	3/22			
Polson A	3	0	1	0.0	0	0	0	44	-	0	0	0/10	0	-	-
Shacklock D	5	56	3	18.7	0	21	4	75	18.7	0	0	2/9	0	-	-
Walker C	7	4	3	1.3	0	2	0	86	-	0	0	0/5	0	-	-

## Junior Summary

This season we continued with a Junior Operations sub-committee (J'ops) to support the club committee coordinate our junior teams.

The J'ops committee comprised Tim MacMilllan – Chair, Emma McMahon, Anne Tricarico, Stephen Harrison, Pete Martin, Bernie Docherty and Julian Fogarty

These guys met throughout the season and aided the club with junior team nominations, recruiting players and team coaches, season launch and presentation night arrangements including awards and trophies and junior policy development. Many thanks for your contribution throughout the season, this committee is a valuable addition to our club.

### Woolworths Junior Blast and Master Blast.

2018/19 saw the introduction of a new naming sponsor Woolworths to replace the iconic Milo cricket and T20 Blast programs.

### STC Woolworths JUNIOR BLAST: 5 to 6 yr. olds

Thomas Docherty and Joel Lagastes ran our Junior Blast program on Sunday mornings at Nettleton Park.

These two former STC junior players completed the accreditation with Cricket Australia and warmed into the role.

Every Sunday morning for 10 weeks they conducted skill development, fun cricket based activities and match practice with our budding 5 and 6 years olds. Notable club stalwarts Amelie O'Connell and Sophie Flint completed the program. Both are long-term supporters of STC.

Thanks to Joel and Tom for coaching these guys

### STC Woolworths MASTER BLAST: 7 to 10 yr. olds

Cam Judd took our Master Blast kids through their passes at Camberwell sports ground every Friday evening.

STC players joined in the new 7 per side game format playing against sides from the Camberwell Magpies and Trinity Willison cricket clubs.

Parents enjoyed a pleasant Friday evening with a light refreshment and sausage sizzle watching Cam do his stuff.

We look forward to these players graduating to the under 10 ranks next season.

Well Done Cam

#### Under 10 Reds

#### Round 14 vs Donvale W

The Under 10 REDS had one of the longest road trips out to sunny Doncaster East to take on the mighty Vales. Our boys were zip from the 2 encounters so it would be a test of their overall development. Bat toss done and STC elected to bowl first. Henry Hurricane Ralph opened bowling and had to wait for his 3rd over to grab a wicket. Henry was on for a hat trick with his 3rd ball but got his 3rd wicket with his 6<sup>th</sup> delivery. Samson chimed in with a wicket and Roy picked up 2. The Vales played well finishing with 85 including extras.

STC were off to a great start with both Anthony and Henry batting well collecting a pair of 13s. Michael Alberts had a superb knock smashing 20 and our last pair Roy and Samson were fantastic putting on 22 and 17 respectively. It was a great for the boys with a final total score of 147 versus 113.

#### Round 13 vs. Wyclif W

Away against Wyclif STC bowled first in perfect conditions. Collecting 11 wickets for the innings the boys bowled magnificently – Charlie 2 for 14, Henry 2 for 4, Michael 2 for 3, Roy 1 for 2 and Bernie 4 wickets for 2 runs. This included a hat trick – Samson took a ripper catch at mid-on, team assisted in a run out, and Bernie bowled the batsmen middle stump to complete the Hat Trick.

The team continued their good form with the bat amassing a total score of 165, which meant a win of 104 runs: wow! Anthony 13, Henry 17, Michael 16, Bernie 20, and Roy 15.

#### Round 12 vs. Balwyn Blasters W

Away against Balwyn Blasters with STC bowling first. The boys collected 8 wickets in total. Samson had 2 for 11, Roy 1 for 4, Henry 2 for 7, Michael had 1 for 7, and Bernie 2 for 7. With the bat the STC REDS were dominant amassing 151 total score where the opposition collected 90. Roy opened with 22, Anthony 17, and Michael 15 were our top scorers.

#### Round 11 vs. Bulleen D

At home this was effectively a drawn game thanks to the rain however we had one innings completed; we got to bowl. STC's Michael Alberts 3 wickets, Lethlean 1, Bernie 1, and Anthony 1.

#### Round 10 vs. Mont Albert L

Away STC bowled first. 3 wickets was a great effort against a good side Henry 1 wicket, Roy 1, Bernie 1, and Charlie 1.

Chasing 58 off the bat the boys were a little rusty. Bernie opened with 9, Samson chimed in with 8, and Michael Alberts finished the innings with 10. They were 45 off the bat and hence went down by 18.

Round 9 vs. Edinbugh Washed out

#### Round 8 V Kew W

STC South Camberwell Cricket Club 2018/19 Annual Report

STC REDS away bowled first and Kew were 64 off the bat. STC had 6 wickets with Henry grabbing 1, Michael 2 and the rest were run outs.

Batting the boys had 66 off the bat and only lost 4 wickets. With 37 extras in our favour the result was 127 to 107. Bernie made 12 and Henry 16.

Round 7 vs. Donvale L

STC away bowled first. 4 wickets in total with singles to Roy, Samson, Charlie and Bernie. With the bat Roy grabbed 13 and Samson 10. Donvale finished with 117 versus STC 110.

Round 6 Washed Out

Round 5 vs. Donvale L

STC @ home got to bat first. Samson 13 and Anthony 15 were our standouts. With the ball 6 wickets: 2 for Michael, and singles for Charlie, Bernie, Samson and Roy. Total scores 170 (Vales) to 118 (STC).

Round 4 vs. Canterbury L

We batted first and had a tough time. Top score was Roy with 8.

In bowling 5 wickets in total: Henry 1, Charlie 1 and Roy 2 with Bernie grabbing a run out.

Total scores 126 Canterbury and 70 STC.

Round 3 vs. Balwyn Blasters W

Away against Balwyn Blasters with STC batting first. The boys made 45 off the bat with Roy making a top

score of 13.

Bowling innings was a great team effort with 11 wickets and keeping the opposition to 34 off the bat.

Bernie grabbed 3, Michael 2, Anthony 1 and 5 run outs. Total scores were 123 STC to 75 Balwyn

Round 2 vs. Wyclif Washed out

Round 1 vs. Trinity Willison L

Playing at home for the opening game the guys batted first. With a top score of 6 it was a challenging game with only 17 off the bat.

Bowling we grabbed 3 wickets: 2 for Michael and 1 for super sub Sam Urquhart. Total scores 118 Trinity to 64 STC.

Washed out	Drawn	Lost	Win	Total	
3	1	5	5	14	

### Under 12 Red

The under 12s Red had a fantastic season with the improvements over the course of the season being the highlight.

A number of the boys were in the second year of under 12s and were joined by a new group of younger boys who made the step up. Our focus this year was supporting all our teammates both in the field and the sideline and it was a strong bond in the team that helped us concentrate for long periods in the sun. It was out first experience of two-day games and it really assisted our development. The combination of the older heads and younger boys made for a very enjoyable season and enabled us to win just as many as we lost.

The highlight for us was the great team effort when we bowled Richmond out for 52 and then scored 248 scored (including 3 boys scoring over 40) and then managed to come back the next week and bowl Richmond out again for 47. This wasn't even our highest score as we left this to the last game where we managed a massive 269, with 5 of our boys scoring over 20 that day and us recording a straightforward victory. Our fielding and running between the wickets also improved significantly during the season, which along with the reduced number of extras, meant we were in the game for every match.

Whilst every player improved over the course of the season one person to call out was Jacob Johnston. With both bat and ball Jacob's improvement was outstanding. It is a credit to Jacob that he worked so hard during the season to improve his skills and this showed through which such a leap in his bowling and batting statistics compared to the previous year.

Whilst there were outstanding performances right across the team, there can only be a select number of awards, and the best bowler went to Jack Urquhart who took 12 wickets at an average of 3.0. This was the best average of any bowler in Under 12s in the ECA. Best batsman was Josh Martin with 120 runs at an excellent average of 40 which would have been even better had wash outs not played a part. The coaches award was a tough decision but it went to George Dwyer whose performances both on and off the field were excellent in his first season with the club.

We hope to see everyone back again for season 19/20.

Paul and Pete

### Under 12B Blue

A super season from the U12B Blue team. The boys had a fantastic team attitude, showed significant improvement and had loads of fun throughout the year - all KPIs for the team achieved in spades! By the end of the year, they were sensational at the cricket basics across the board and that flowed through to results... they won 4 of their last 5 matches and managed to finish 4th!

There were many highlights throughout the year, to name a few:

- the constant talk and banter on and off the field (the kind that the 'new' Cricket Australia would be happy with:)). Louis, Ted and Eddie led the way in that department always keeping the team upbeat but the whole team got on board!
- Saveen and Louis' fast bowling in the last game of the year. Ruthless accurate bowling at its best.
- The fielding and bowling of Charlie, Luca and Ethan who improved significantly over the year and finished off the year superbly.
- Some of the patient but aggressive batting partnerships between Evan, Ted, Eddie and Archie
- Paddy, Jordy and James' consistency throughout the season. They were the rocks with the bat and hit the spot relentlessly with the ball whenever we needed it.
- Seeing Lucas Huggins back out there playing after his accident he played at his usual high standard but his enthusiasm out in the field was great to see.

Well done team, we look forward to seeing you all down here next season!

Julian and Dan

Julian Fogarty Coach

### Under 12C

The under 12C season was not a good one for wins, but for the boys cricket skills. We had a few second and third year players but the majority were first year players, so winning was not a priority as much as to develop skills and their cricket knowledge. With so many new players the first few games would always be a struggle as the boys were getting to know each other very quickly. We were competitive in many of our games with the boys really gelling together and becoming a solid team. We managed to come close in a few games in the first half of the season and when we started to get red hot, the holiday break came.

Coming off the holiday break the majority of the players had obviously been playing hours of beach cricket. The first game back, Fergus Carnegie was creaming balls through the covers, and Skand was bowling some good on the spot balls. The improvement was shown throughout the season, especially in the last few games, where Ollie Schleiger hit a 29 not out, with a whopping 7 fours, Ollie Sim and Alasitar Neilson leading the bowling attack with Jai Nankany and Oscar Anthony with the dot ball pressure. Roman Zylinski was great with the ball when he came on and Lachie Curtain with great voice out in the field. Batting Award - Ollie Simpson Bowling Award - Roman Zylinski Coaches Award - Noah Dawson

Hamish MacMillan Coach

### Under 14A

This season isn't defined by only recording 1 win. We finished 8th out of 10 teams. Our win came in round 2 where we held off a fast finishing Edinburgh to win by 4 runs. We were well on our way to winning in the final round having posted a season high 238 runs in the first innings against Ashwood, only to be heated off on the final day of the season. Two other close loses meant that were very competitive for half of our games. There were times that we were outclassed by more talented A grade sides. Like round 5 against Boroondara when we were passed at the tea break on day 2 but had to field for the rest of the day in 36 degree heat. Our boys didn't drop their heads & kept taking wickets with great enthusiasm.

Our team philosophy was that everyone gets a go. We mixed the batting & bowling around each game. This resulted in all 11 players taking at least 1 wicket. The bowling award was taken out by Luke Worthy, with special mention to Charlie Adams & captain Nick Francis who finished on equal wickets with Luke. The batting award was won by Nick Scacco, on the back of the most brutal innings I have ever seen in junior cricket. Against eventual premiers Canterbury, he scored 83 not out from 37 deliveries. Special mention to Henry Lasscock who averaged 199 but the batting award requires minimum of 200 runs. For his batting & bowling throughout the season, Henry won the Coach's Award.

This group of boys was an absolute joy to coach. They are polite, competitive & eager to improve. Opposition coaches repeatedly commended me on the attitude of our team. The team moves up to under 16 next season & I know they will be ready for the challenge. All players & parents should be very proud of season 2018-19. Go Saints!

Rohan Worthy Coach

### Under 14C

In season 2018/19 the STC 14 Blues, the clubs 2<sup>nd</sup>. under 14 team graded in the 14 C SJ Mason division started pre-season training with 7 regular players. A quick search was required to find 4 extras on a weekly basis to field a team.

Coming to the rescue were 6 willing under 12 players keen to play up when available and 13 year old Henry Dwyer ( son of a gun - Evan ) came out of retirement to join us. We had 11 for round one and were ready to go. ps: thanks Joey Valcanas for answering a late call up.

What followed was a year filled with many outstanding individual performances and plenty of courageous team efforts.

In a season where we kept coming up against teams in red hot form we finished off with a mighty win in round 8, a few draws and 5 losses.

The club should be proud of the way our players adopted a 'We're in this together attitude', fighting gallantly in all games.

To be rewarded with a victory in round 8, away from home against powerhouse club Edinburgh, was a tremendous tick for hard work at training and playing as a team. Season highlights include:

- Young guns Josh Martin and Jack Urquart opened the batting against some fierce new ball bowling.
- Devon Melzak compiled his most consistent season for STC developing into a strike bowler.
- George Adams and Henry Dwyer provided many fine batting displays including beautiful running between the wickets.
- Lucas Huggins and Henry Dwyer compiled our highest partnership for the season as we chased down 162 to take the points against Edinburgh.
- Oscar Cate's resilience under pressure as he batted past 30 balls-retired for the first time this season in front of his proud grandma.
- Finn Hopkins a reluctant but determined cricketer worked on his bowling all year and ended the season winning the bowling award
- Ev McMahen and Bometh were our spin twins unfortunately rarely bowling together. Both have bright spin bowling futures ahead.
- Joey Camillieri (son of a couple of guns both Kate and Steve played for STC) enjoyed a breakout season especially with the bat.
- Mack Marshall and Henry Docherty co-Captained the team, keeping spirits high and developing a real sense of brotherliness within the team.
- These boys were a joy to coach, always looking out for each other with a willingness to take the game on.

Thanks to all our parent helpers on the BBQ and square leg umpiring. Special thanks to James Melzak for scoring all season, a great support to the team. The future looks bright for these players, good luck next season

Bernie Docherty Coach

## Under 16

The 2018/19 season while not resulting in finals, delivered marked improvement across the season, some outstanding individual performances, and importantly a team who enjoyed their cricket and joyfully celebrated each other's successes.

The season kicked off on Friday 12th October at home against Donvale. Zac Gucciardo (28), Ben McMahen (36) and Ben Tricarico (25), all undefeated, led the way with the bat. We had some success with the ball taking some early wickets (Jim and Aneek) but with the small ground Donvale came back and looked to have our measure. Fortunately,

Hamish Macmillian kept his composure with the ball in the last over and, with scores tied, beat the bat several times before an excellent catch by Ben McMahen off the final delivery had both teams locked on 121 runs. An exciting start to the year. The next two games were against the top teams Burwood and Edinburgh who ultimately played off in the GF (Burwood won). We performed above expectations, scoring more than 200 runs in both games and narrowly losing to Burwood by 16 runs only. Joel McMahen and Lucas Jackson successfully took on the challenge of opening. Joel scored 40 and 57 respectively and Lucas a dogged 18 (in the face of much opposition heckling) followed by a well compiled 37. Lucas Harrison (56) and Xavier Robinson (29) batted superbly in the middle order and got us close in the Burwood match.

There were no standout performances with the ball as we struggled taking wickets against strong batting sides. Richard Bland returned a solid 1-24 off 6 and 2-35 off 9.

The following three rounds prior to the Christmas break were all impacted by Melbourne's weather. Unfortunately Round 4 was drawn due to rain on the second day. We were heading towards a certain win after strong bowling performances by Xavier, Ben, Hamish and Liam with 2 wickets apiece, and a solid start with the bat on the opening day.

In Round 5 the weather gods almost foiled us again on the second day. However, fortunately the mercury dropped to 35.9 degrees via the BOM app and play was allowed to start. Round 5 was marked by Liam Gibson-Bourke's mastery of spin. Liam took 4-6 in the Bulleen's first innings, and with his 3-4 in the second we fell one wicket shy of an outright. Liam was well assisted by fellow spinner

Dom O'Leary who took wickets in both innings. Round 6, a one-day game was washed out after 2 overs. There were ducks seen swimming in the pond at fine leg.

After Christmas, the draw saw us take on Burwood and Edinburgh again. Unfortunately while we fought hard they were both a class above. Zac Gucciardo scored a swashbuckling 43 against Burwood and Jim McCarthy had a standout game with bat and ball against Edinburgh (30 runs and 3 wickets).

The last game, like the first, was against Donvale. Ben Tricarico played the best innings of season with an unbeaten 80. The boys were eager to take the field on day 2 but due to exceedingly high temperatures play was abandoned.

Batting award: Joel McMahen

Bowling award: Liam Gibson-Bourke

Most Improved: Lucas Jackson

Under14/16 Best Player: Ben Tricarico

#### ECA Rep Carnival And ECA Awards

Congrats to 4 STC Juniors who represented the ECA (Eastern Cricket Association) in the recent Victorian Metro Cricket Carnival. After a gruelling 14 week training program the carnival was conducted over 2 weeks in mid-January in some very hot and humid conditions.

#### **Under 14 Des Nolan Cup**

Billy MacMillan was the only STC player to enjoy some finals action going down narrowly in the Semi Finals.

Billy took centre stage in the round 4 clash against Diamond Valley when he made 10 runs and took 3 sharp catches in the gully. Followed this up with 1/10 off 4 in the next round.

### Under 14 Russell Allen Shield

Henry Lasscock proved the allrounder of the team scoring 84 runs and taking 3 wickets and 2 catches.

### Under 16 Keith Mackay Shield

Ben Tricarico had a great return behind the stumps taking 10 catches, 8 stumpings and 2 runouts from their 5 matches. Awarded MVP for the U16 team.

Zac Gucciardo came in late due to some injuries and lead the batting for the final two matches scoring 30 and 19.

Ben McMahen was also chosen to represent the ECA but did not play due to skiing commitments in Japan.

### ECA Award Winners:

Congratulations to Henry Lasscock on winning the competition batting ave. in the under 14 A division (Ave. 199)

Congratulations to Jack Urquhart on winning the competition bowling ave. for the under 12 B division (ave. 3.0)

Well done gents, you've represented STC with distinction, for which we thank you!

Michael Tricarico Parent

# Junior Awards

Under 10 Red	Batting	Roy Lethlean
	-	Michael Alberts
	Bowling Coaches Award	Charlie de Crespigny
	Participation Awards	Anthony Alati Bernie Bond
		Henry Ralph
		Samson Story
Under 10 Blue		
	Batting	Blake Reid
	Bowling	Jack Gallagher
	Coaches Award	Hamish Walker
		Caleb Martin
		Harrison McComas
	Participation Awards	Jack Slattery
		Samuel Urquhart
U10 Spirit Award 18/19		Henry Ralph
Under 12B Blue		
	Batting	Archie Fogarty
	Bowling	Louis Jones
	Coaches Award	Evan McMahen
Under 12B Red		
	Batting	Josh Martin
	Bowling	Jack Urquhart
	Coaches Award	George Dwyer
Under 12C		
	Batting	Oliver Simpson
	Bowling	Roman Zylinski
	Coaches Award	Noah Dawson
Under 12 Most Improved	İ.	Jacob Johnston
Colman Medallist		Eddie Goodwin
Under 14A		
	Batting	Nick Scacco
	Bowling	Luke Worthy
	Coaches Award	Henry Lasscock
Under 14C		,
-	Batting	Henry Dwyer
	Bowling	Finn Hopkins
	Coaches Award	Devon Melzak
JA Cain U 14 Most Improved		Oscar Cate
Under 16		
	Batting	Joel McMahen
	Bowling	Liam Gibson-Bourke
JA Cain Uner 16 Most Improved	bowung	Lucas Jackson
· ·		Ben Tricarico
Junior Club Champion Recognition of Outstanding Achievement	E wieket instance	
Recounting of Outstanding Achievement	5 wicket innings	Hamish Walker

# Statistics

Player	Gms	Rns	Out	Avg	50	10	Hs	W	Runs	Avg	5WI	BB	C(F)	C(W)	St
Atkinson R	1	0	1	0.0	0	<b>0</b> 0	0	k -	-	-	-	-	0	-	+
Bach Tom	13	321	13	24.7	0	1	157	-		_	-		6	3	0
Bangash N	3	2	1	2.0	0	0	2	1	46	46.0	0	0	2	-	0
Boal E	3	50	3	16.7	0	0	30	0	66	-	0	0/23	1	-	-
Boal K	7	119	5	23.8	0	0	49	4	140	- 35.0	0	2/9	1	-	-
	9		8		0	0		2			0	-			-
Brandner P		141 3	-	17.6	-	-	23 3*		129	64.5	-	2/18	6	-	-
Briggs J	1 3	50	0		0	0	26*	1	25 66	25.0	0	1/25	0	-	-
Briggs S	12	31	5	25.0	-	-	26 18*			66.0	-	1/23	-		-
Brownie J				6.2	0	0	-	2	76	38.0	0	2/20	1	-	-
Burt D	8	100	8	12.5	0	0	32	5	144	28.8	0	2/15	0	-	-
Casha T	12	152	9	16.9	0	0	33	3	61	20.3	0	2/11	4		-
Childs L	1	-	-	-	-	-	-	0	10	-	0	1/10	0	-	-
Colman L	8	42	5	8.4	0	0	14	12	224	18.7	1	5/20	4	-	-
Coyle B	13	419	12	34.9	3	1	147*	15	299	19.9	0	3/27	2	-	-
Craine B	2	28	2	19.0	0	0	26	0	4	-	0	0/4	0	-	-
Cropley N	10	285	10	28.5	2	0	58	7	147	21.0	0	3/8	4	-	-
Curry A	1	24	1	24.0	0	0	24	-	-	-	-	-	0	-	-
D'Addazio A	9	10	2	5.0	0	0	8	20	245	12.2	1	7/21	1	-	-
D'Addazio F	13	108	8	13.5	0	0	24	-	-	-	-	-	2	23	2
David B	13	101	4	25.3	1	0	60*	20	262	13.1	1	6/32	5	-	-
Di Battista D	11	137	6	22.8	1	0	52*	15	224	14.9	0	3/14	4	-	-
Docherty B	10	165	4	41.3	1	0	56*	11	149	13.6	1	5/20	1	-	-
Docherty T	14	112	10	11.2	1	0	53	13	247	19.0	0	3/25	7	-	-
Dooley C	12	68	11	6.2	0	0	23*	42	457	10.9	5	6/32	1	-	-
Dougherty R	7	72	4	18.0	0	0	26*	9	104	11.6	0	4/30	3	1	0
Douglas G	13	125	10	12.5	0	0	33	6	120	20.0	0	2/10	2	1	0
Douglas H	13	89	5	17.8	0	0	28	19	332	17.5	1	6/48	4	-	-
Evans N	6	49	2	24.5	0	0	19*	0	23	-	0	0/23	4	-	-
Fairbrother S	11	166	8	20.8	0	0	48*	7	199	28.4	0	2/29	2	-	-
Fennessy N	14	259	9	28.8	1	0	84	0	31	-	0	0/31	1	9	0
Flegeltaub L	5	67	4	16.8	0	0	35	2	55	27.5	0	1/9	0	-	-
Flint R	9	63	4	15.8	0	0	29*	9	171	19.0	1	5/27	1	-	-
Francis J	5	52	3	17.3	0	0	26	5	122	24.4	0	1/11	1	-	-
Francis N	2	38	2	19.0	0	0	20	1	56	56.0	0	1/36	0	-	-
Gibbons R	13	36	6	6.0	0	0	16	7	227	32.4	0	3/19	3	-	-
Grover M	7	188	6	31.3	1	0	62*	5	142	28.4	0	3/3	3	-	-
Gucciardo Z	9	155	8	19.4	1	0	65	6	103	17.2	0	2/12	3	-	-
Haikal E	1	27	1	27.0	0	0	27	-	-	-	-	-	1	-	-
Hall C	1	5	1	5.0	0	0	5	2	18	9.0	0	2/18	2	-	-
Hando D	12	200	12	16.7	0	0	38	0	8	-	0	0/8	7	-	-
Harewood B	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Henderson C	11	55	5	11.0	0	0	25	11	224	20.4	0	2/6	4	-	-
Hill K	2	31	2	15.5	0	0	31	-	-	-	-	-	1	-	-
Huff P	3	15	2	7.5	0	0	12	1	39	39.0	0	1/27	1	-	-
Huggins B	1	0	1	0.0	0	0	0	3	24	8.0	0	3/24	0	-	-
Hunt T	2	20	2	10.0	0	0	10	0	11	-	0	0/11	0	-	-
King A	13	367	8	45.9	1	1	101*	0	26	-	0	0/9	7	-	-
King O	12	386	7	55.1	3	0	76*	-	-	-	-	-	4	1	0
King O Krohn A	9	73	7	10.4	0	0	26*	- 15	- 259	- 17.3	- 0	- 4/19	3	-	-
	7	11	2	5.5	0	0	26 8*	0	12	-	0		0	-	<u>ا</u>
Lacki P					-	-		5			-	0/12	-		-
Lagastes J	9	155	6	25.8	0	0	36*	-	97	19.4	0	2/13	4	1	0
Lasscock H	3	31	3	10.3	0	0	13	2	27	13.5	0	2/1	0	1	0
Logan B	6	32	5	6.4	0	0	16	3	117	39.0	0	1/16	0	-	-
Lynch M	1	11	1	11.0	0	0	11	0	1	-	0	0/1	0	-	-
Lynch P	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Macmillan H	9	50	5	10.0	0	0	24	9	172	19.1	0	3/17	1	-	- 1

All Senior Player Performances 2018/19

Macmillan T	2	29	2	14.5	0	0	22	8	58	7.2	1	5/36	1	-	-
Macmillan W	4	16	4	4.0	0	0	6	-	-	-	-	-	0	-	-
Mansour M	16	167	15	11.1	1	0	52*	8	273	34.1	0	2/30	4	-	-
Martin D	8	221	4	55.3	3	0	60*	5	35	7.0	0	4/15	2	-	-
Martin T	3	69	2	34.5	1	0	50*	2	44	22.0	0	2/44	1	-	-
McCarthy J	1	14	1	14.0	0	0	14	2	19	9.5	0	2/19	0	-	-
McDonald T	1	10	1	10.0	0	0	10	-	-	-	-	-	1	-	-
McKenzie J	5	34	3	11.3	0	0	28*	-	-	-	-	-	0	3	0
McMahen B	2	2	2	1.0	0	0	1	0	22	-	0	0/22	0	-	-
McMahen J	1	15	1	15.0	0	0	15	-	-	-	-	-	0	-	-
McMahen P	1	12	1	12.0	0	0	12	-	-	-	-	-	0	-	-
Mehta P	3	42	3	14.0	0	0	25	0	21	-	0	0/21	2	-	-
Mishra R	1	3	1	3.0	0	0	3	0	17	-	0	0/17	0	-	-
Morrison P	12	326	9	36.2	3	0	75	3	54	18.0	0	1/5	6	-	-
Moyle G	1	42	1	42,0	0	0	42	-	-	-	-	-	0	-	-
Nunan C	6	103	5	20.6	0	0	45	5	151	30.2	0	1/11	0	-	-
O'Connell D	5	58	5	11.6	0	0	36	-	-	-	-	-	3	-	-
O'Connell J	10	251	8	31.4	1	0	89	2	37	18.5	0	2/13	1	2	1
O'Connell M	2	4	1	4.0	0	0	4	-	-	-	-	-	1	-	-
O'Connell S	7	68	6	11.8	0	0	32	-	-	-	-	-	0	-	-
Peteriet J	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Porozny J	2	5	0	-	0	0	5*	0	26	-	0	0/26	1	-	-
Ravindranath R	3	0	2	0.0	0	0	0	2	56	28.0	0	2/36	0	-	-
Reeve J	7	131	5	26.2	0	0	35*	8	161	20.1	0	2/11	2	-	-
Rodan B	12	23	6	3.8	0	0	7	14	265	18.9	0	2/19	2	1	0
Ross S	2	3	1	3.0	0	0	3	0	23	-	0	0/23	0	-	-
Salathiel J	1	-	-	-	-	-	-	2	23	11.5	0	2/23	1	-	-
Sallmann R	12	43	4	10.8	0	0	20	20	245	12.2	0	3/10	2	2	0
Sallmann T	11	11	3	3.7	0	0	9*	9	211	23.4	0	2/4	1	-	-
Shallue M	12	340	12	28.3	2	1	139	-	-	-	-	-	5	29	2
Sierakowsli L	1	1	1	1.0	0	0	1	-	-	-	-	-	0	-	-
Talj J	1	0	1	0.0	0	0	0	2	32	16.0	0	2/32	1	1	0
Terrill J	9	69	1	69.0	0	0	45*	1	67	67.0	0	1/25	2	-	-
Tesoriero B	1	0	1	0.0	0	0	0	0	0	-	0	0/0	0	-	-
Tesoriero P	12	15	10	1.5	0	0	5	3	78	26.0	0	1/8	0	-	-
Thomas M	9	66	5	13.2	0	0	33	12	271	22.6	0	4/35	2	-	-
Tricarico B	5	177	3	59.0	2	0	67*	-	-	-	-	-	0	-	-
Van Der Meer M	10	240	9	26.7	2	0	60	5	229	45.8	0	2/12	4	-	-
Wigg X	13	285	13	21.9	1	0	83	26	319	12.3	1	5/5	4	-	-
Williams M	13	443	11	40.3	1	1	127	-	-	-	-	-	3	-	-
Worthy R	1	11	1	11.0	0	0	11	0	21	-	0	0/21	1	-	-

### All Player Performances (Career Aggregate) Statistics to End 2018/19

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Atkinson R	16/17	3	1	3	0.3	0	0	1	0	3	-	0	0/3	0	-	-
Bach Tom	98/99	218	5951	181	32.9	26	12	190	44	946	21.5	1	5/33	103	5	0
Bandash N	13/14	39	332	29	11.4	1	0	60	43	1089	25.3	1	5/44	22	-	-
Boal E	17/18	7	86	6	14.3	0	0	30	4	181	45.2	0	2/25	2	-	-
Boal K	17/18	11	201	8	25.1	1	0	50	6	250	41.7	0	2/9	3	-	-
Brandner P	13/14	71	1071	58	18.5	4	0	58	67	1772	26.4	1	8/93	20	-	-
Briggs J	12/13	43	282	20	14.1	0	0	34	38	1242	32.7	0	3/12	17	-	-
Briggs S	15/16	26	363	15	24.2	2	0	58*	17	387	22.8	0	3/15	3	-	-
Brownie J	18/19	12	31	5	6.2	0	0	18*	2	76	38.0	0	2/20	1	-	-
Burt D	92/93	195	3308	157	21.1	14	2	124	139	3853	27.7	2	5/46	33	-	-
Casha T	03/04	158	2384	134	17.8	6	2	130	103	2800	27.2	2	7/61	40	3	1
Childs L	18/19	1	-	-	-	-	-	-	0	10	-	0	1/10	0	-	-
Colman L	02/03	126	867	71	12.2	1	0	81*	206	4253	20.6	7	8/45	42	-	-
Coyle B	03/04	169	2586	127	20.4	9	1	147*	201	4239	21.1	2	5/20	70	-	-
Craine B	02/03	168	2540	120	21.2	8	3	163*	103	2525	24.5	0	4/38	47	-	-
Cropley N	07/08	33	601	28	21.5	3	1	126	29	643	22.2	0	3/8	10	-	-
Curry A	91/92	160	2206	157	14.1	4	0	78	-	-	-	-	-	34	10	0
D'Addazio A	04/05	144	415	46	9.0	0	0	44	261	4857	18.6	9	7/21	49	-	-
D'Addazio F	07/08	142	2484	122	20.4	9	1	134	44	1075	24.4	1	5/26	42	51	2
David B	07/08	125	1160	81	14.3	2	0	69*	155	3449	22.3	4	7/85	45	-	-
Di Battista D	14/15	45	633	30	21.1	2	1	100	40	1003	25.1	0	4/18	11	-	-
Docherty B	78/79	372	9351	317	29.5	49	9	125	318	5864	18.4	8	6/17	182	2	0
Docherty T	15/16	35	285	24	11.9	2	0	75	30	617	20.6	0	3/25	10	2	0
Dooley C	15/16	30	405	24	16.9	0	1	118	92	1400	15.2	8	9/69	6	3	0
Dougherty R	14/15	32	492	27	18.2	2	0	74	17	328	19.3	0	4/30	13	1	0
Douglas G	12/13	99	1002	74	13.5	1	0	51*	39	1343	34.4	0	4/23	13	5	0
Douglas H	11/12	83	1264	59	21.4	6	1	100*	104	2634	25.3	3	6/48	22	-	-
Evans N	14/15	26	328	13	25.2	2	0	75*	7	231	33.0	0	3/24	16	-	-
Fairbrother S	09/10	117	2855	98	29.1	14	4	123	85	2533	29.8	1	5/58	55	-	-
Fennessy N	01/02	144	2224	97	22.9	11	2	146*	76	1872	24.6	0	4/34	43	12	1
Flegeltaub L	14/15	42	610	41	14.9	2	0	89*	13	543	41.8	0	3/51	11	-	-
Flint R	06/07	150	2727	109	25.0	9	4	138	92	2036	22.1	2	5/27	51	-	-
Francis J	17/18	10	95	8	11.9	0	0	35	9	184	20.5	0	3/20	1	-	-
Francis N	17/18	4	38	4	9.5	0	0	20	1	75	75.0	0	1/36	0	-	-
Gibbons R	18/19	13	36	6	6.0	0	0	16	7	227	32.4	0	3/19	3	-	-
Grover M	18/19	7	188	6	31.3	1	0	62*	5	142	28.4	0	3/3	3	-	-
Gucciardo Z	17/18	16	335	16	20.9	2	0	66	8	221	27.6	0	2/12	3	-	-
Haikal E	18/19	1	27	10	27.0	0	0	27	-	-	-	-	-	1	-	-
Hall C	18/19	1	5	1	5.0	0	0	5	2	18	9.0	0	2/18	2	-	-
Hando D	09/10	112	1737	97	17.9	5	0	69	23	780	33.9	0	4/28	45	-	-
Harewood B	18/19	1	0	1	0.0	0	0	0	-	-	55.7	-	-	0	-	-
Henderson C	17/18	17	68	10	6.8	0	0	25	- 13	- 356	- 27.4	- 0	- 2/6	8	-	-
Hill K	18/19	2	31	2	15.5	0	0	31	-	-	-	-	-	° 1	-	-
Huff P	12/13	29	161	22	7.3	0	0	28*	6	- 418	- 69.7	0	- 2/42	11	-	-
Hull P Huggins B	12/13	29	0	1	0.0	0	0	28	o 4	418	11.2	0	3/24	0		+
Huggins B Hunt T	17/18	2	20	2	10.0	0	0	10	4	45	-	0	0/11	0		-
King A	08/09	2 113	3074	77	39.9	19	2	10	66	2028	- 30.7	1	6/78	35	- 2	- 1
King O	13/14	58	909	42	21.6	4	0	76*	5	81	16.2	0	2/0	10	1	0
5	13/14	58	909 13	42	6.5	4	0	12*	5	72	72.0	0	1/12	0	-	<u> </u>
King S	06/07	5 129	1093	70	15.6	4	0	86	175	3472	19.8	1	7/25	35	- 3	- 0
Krohn A		45	87	27	3.2	4	0	86 19		270	19.8			35	-	
Lacki P	14/15	40	8/	27	5.2		U	13	2	270	135. 0	0	1/16	З	-	-
	15/16	28	339	25	13.6	0	0	46	18	445	24.7	0	Z /1 0	9	1	0
Lagastes J Lasscock H	15/16	28 9	62	25 9	6.9	0	0	46	18 5	105	24.7	0	3/18 2/1	9	1	0
		-		-		-	-							-	1	
Logan B	18/19	6	32	5	6.4	0	0	16	3	117	39.0	0	1/16	0	-	+-
Lynch M	94/95	163	1716	103	16.7	5	0	72	185	4207	22.7	6	8.69	75	-	-
Lynch P	89/90	321	6279	304	20.7	22	6	125	31	841	27.1	0	3/20	128	4	0
Macmillan H	17/18	19	162	12 5	13.5 31.2	0	0	49 52*	9 8	294 100	32.7 12.5	0	3/17 5/36	4	-	-
Macmillan T	17/18	6	156													

Mansour M	17/18	24	260	24	10.8	1	0	52*	12	472	39.3	0	2/30	6	-	-
Martin D	17/18	15	331	11	30.1	3	0	60*	6	194	32.3	0	4/15	5	-	-
Martin T	17/18	8	121	6	20.2	1	0	50*	3	102	34.0	0	2/44	1	-	-
McCarthy J	17/18	5	18	5	3.6	0	0	14	6	82	13.7	0	2/10	0	-	-
McDonald T	17/18	11	102	9	11.3	0	0	45	7	298	42.6	0	3/85	3	-	-
McKenzie J	13/14	40	501	32	15.7	2	0	54	1	20	20.0	0	1/20	4	24	0
McMahen B	17/18	3	7	3	2.3	0	0	5	0	38	-	0	0/16	0	-	-
McMahen J	17/18	2	67	2	33.5	1	0	52	-	-	-	-	-	0	-	-
McMahen P	17/18	2	14	2	7.0	0	0	12	0	18	-	0	0/18	0	-	-
Mehta P	16/17	17	220	18	12.2	0	0	39	3	93	31.0	0	2/4	2	-	-
Mishra R	18/19	1	3	1	3.0	0	0	3	0	17	-	0	0/17	0	-	-
Morrison P	99/00	228	3727	163	22.9	14	4	128	252	5117	20.3	4	5/11	61	-	-
Moyle G	04/05	23	459	19	24.2	1	0	73	4	106	26.5	0	2/25	7	11	0
Nunan C	12/13	27	366	19	19.3	1	0	59	23	647	28.1	0	4/6	6	-	-
O'Connell D	96/97	248	4840	226	21.4	21	5	153	52	1661	31.9	1	5/29	105	15	3
O'Connell J	02/03	103	1419	74	19.2	5	0	89	9	321	35.7	0	4/27	15	50	3
O'Connell M	99/00	172	3092	147	21.0	12	2	147*	59	1604	27.2	2	6/13	59	21	4
O'Connell S	93/94	259	8795	230	38.2	51	14	176*	4	98	24.5	0	1/6	19	320	44
Peteriet J	18/19	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Porozny J	14/15	23	146	11	13.3	0	0	38*	30	500	16.7	1	5/48	8	-	-
Ravindranath R	11/12	50	333	24	13.9	0	0	49	56	1176	21.0	2	5/23	12	-	-
Reeve J	18/19	7	131	5	26.2	0	0	35*	8	161	20.1	0	2/11	2	-	-
Rodan B	05/06	48	185	26	7.1	0	0	31*	44	1401	31.8	0	3/25	10	1	0
Ross S	90/91	226	4922	184	26.8	22	8	164	9	202	22.4	0	3/5	89	23	1
Salathiel J	18/19	1	-	-	-	-	-	-	2	23	11.5	0	2/23	1	-	-
Sallmann R	15/16	38	169	29	5.8	0	0	20	39	869	22.3	0	3/25	7	2	0
Sallmann T	18/19	11	11	3	3.7	0	0	9*	9	211	23.4	0	2/4	1	-	-
Shallue M	09/10	53	1368	51	26.8	9	2	139	3	26	8.7	0	3/7	13	52	3
Sierakowski L	09/10	18	447	16	27.9	2	0	92	12	420	35.0	0	2/17	7	1	0
Talj J	18/19	1	0	1	0.0	0	0	0	2	32	16.0	0	2/32	1	1	0
Terrill J	06/07	116	1128	88	12.8	1	0	53	52	2006	38.6	0	4/28	19	-	-
Tesoriero B	18/19	1	0	1	0.0	0	0	0	0	0	-	0	0/0	0	-	-
Tesoriero P	18/19	12	15	10	1.5	0	0	5	3	78	26.0	0	1/8	0	-	-
Thomas M	09/10	59	746	39	19.1	1	2	154*	81	1908	23.6	1	5/26	21	-	-
Tricarico B	17/18	9	224	6	37.3	2	0	67*	-	-	-	-	-	0	3	0
Van Der Meer	13/14	16	329	14	23.5	2	0	60	7	297	42.4	0	2/2	6	-	-
М																
Wigg X	10/11	100	1520	82	18.5	5	0	83	54	1227	22.7	1	5/5	28	22	2
Williams M	03/04	114	2873	102	28.2	15	4	136	16	501	31.3	0	3/27	39	-	-
Worthy R	03/04	156	535	40	13.4	0	0	46	274	4397	16.0	6	8/60	80	-	-

Votorans Aggrogato Statistics to Fi	nd Sassan $2018/10$
Veterans Aggregate Statistics to Er	110 2692011 2010/19

Player	From	Gms	Rns	Ou	Avg	40	Hs	Wk	Runs	Avg	3WI	5WI	BB	C(	C(	St
				t										F)	W)	
Adams C	15/16	19	204	13		2	43*	0	19	-	0	0	0/7	0	7	0
Adams N	15/16	10	85	5	17.0	0	24*	3	173		0	0	2/8	0	-	-
Alberts S	16/17	2	5	1	5.0	0	4*	1	16	16.0	0	0	1/16	0	-	-
Bilston T	15/16	24	172	12	14.3	1	40*	1	244	244.0	0	0	1/1	4	-	-
Bond M	16/17	14	49	6	8.2	0	18	3	209	69.7	0	0	1/17	1	-	-
Braham A	15/16	19	429	14	30.6	5	45*	15	445	29.7	0	0	2/17	2	-	-
Duane S	18/19	5	129	3	43.0	1	40*	3	67	22.3	0	0	2/11	1	2	0
Fleming T	18/19	6	126	3	42.0	1	45*	6	89	14.8	1	0	3/22	3	-	-
Georgiades A	18/19	4	39	3	13.0	0	25	-	-	-	-	-	-	1	-	-
Goodwin S	17/18	7	133	4	33.3	2	40*	7	149	21.3	0	0	2/20	1	-	-
Hall P	15/16	26	454	17	26.7	3	40*	20	430	21.5	1	0	3/20	11	-	-
Harrison S	18/19	5	34	2	17.0	0	19	3	86	28.7	0	0	1/13	0	-	-
Huggins B	15/16	25	267	16	16.7	1	43*	25	605	24.2	5	0	3/19	5	-	-
Hynes M	18/19	6	78	4	19.5	1	43*	2	39	19.5	0	0	2/14	1	-	-
Judd C	15/16	15	527	4	131.8	10	44*	20	302	15.1	3	0	3/9	2	-	-
Ireland N	18/19	6	151	5	30.2	1	45*	0	39	-	-	-	0/9	2	-	-
Kent J	18/19	3	14	1	14.0	0	14	2	38	19.0	0	0	1/6			
King A	18/19	3	109	1	109.0	2	45*	2	80	40.0	0	0	2/24	0	-	-
Lally S	16/17	13	155	7	22.1	1	41*	9	141	15.7	0	0	2/11	1	-	-
Lasscock G	18/19	1	1	1	1.0	0	1	-	-	-	-	-	-	0	-	-
Leoncelli A	16/17	18	398	7	56.9	8	45*	21	290	13.8	2	0	3/10	5	-	-
Lewis A	18/19	4	113	4	28.3	0	39	9	92	10.2	2	0	4/18	0	-	-
Livens S	18/19	4	6	3	2.0	0	4*	1	66	66.0	0	0	1/16	0	-	-
Macmillan T	17/18	11	158	5	31.6	1	41*	6	160	26.7	0	0	2/12	0	-	-
Martin P	16/17	11	41	9	4.6	0	11	2	167	83.5	0	0	1/5	0	-	-
McMahen P	15/16	18	353	11	32.1	5	45*	7	292	41.7	0	0	2/23	1	0	1
Nankany V	18/19	7	199	3	66.3	3	45*	0	28	-	0	0	0/28	2	-	-
Parkinson B	15/16	23	461	8	57.6	7	45*	17	341	20.1	1	0	3/22	1	-	-
Polson A	18/19	3	0	1	0.0	0	0	0	44	-	0	0	0/10	0	-	-
Shacklock D	15/16	10	145	7	20.7	1	43*	8	165	20.6	0	0	2/9	1	-	-
Toohey D	18/19	4	3	2	1.5	0	1*	1	39	39.0	0	0	1/18	0	-	-
Urquhart P	15/16	29	814	15	54.3	12	45*	5	208	41.6	0	0	2/32	6	-	-
Walker C		7	4	3	1.3	0	2	0	86	-	0	0	0/5	0	-	-
Westmore L	16/17	17	100	5	20.0	0	27*	11	383	34.8	1	0	3/26	2	-	-

### T20 Statistics 2018/19

Name	Gms	R	, SR	A.,	HS	30	50	W	ER	A.,	3WIs	5WIs	BB	CF	C	St	AR	URO
Name	GIIIS	ĸ	SK	Av	пр	50	50	vv	EK	Av	57615	57615	вв	CF	C	SL		URU
						S	S								W		0	
Bach Tom	6	54	79.4	18.0	22*	0	0	-	-	-	-	-	-	3	-	-	0	0
Casha T	5	64	125.5	12.8	26	0	0	0	3.0	-	0	0	0/6	1	-	-	0	0
Colman L	5	11	84.6	5.5	9	0	0	6	4.7	12.7	1	0	3/21	1	-	-	0	1
Coyle B	6	120	94.5	30.0	40*	1	0	3	6.0	22.0	0	0	2/23	0	-	-	0	0
D'Addazio A	6	-	-	-	-	-	-	9	5.1	11.9	1	0	3/20	0	-	-	0	0
Dooley C	5	3	25.0	1.0	1	0	0	9	3.2	6.8	1	0	3/9	6	-	-	0	0
Douglas H	3	0	0.0	0.0	0	0	0	0	9.2	-	0	0	0/18	0	-	-	0	0
Fairbrother S	5	76	104.1	38.0	42*	1	0	7	5.2	11.9	0	0	2/15	5	-	-	0	1
O'Connell S	4	61	101.7	20.3	21	0	0	-	-	-	-	-	-	2	0	0	0	0
Rodan B	6	10	166.7	-	10*	0	0	4	5.9	10.2	1	0	3/8	1	-	-	1	0
Shallue M	6	142	117.4	35.5	43	1	0	-	-	-	-	-	-	0	10	2	0	0
Thomas M	3	14	116.7	14.0	14*	0	0	4	8.1	12.2	0	0	2/28	1	-	-	0	1
Wigg X	6	78	74.3	15.6	47	1	0	7	6.1	14.0	1	0	4/24	1	-	-	1	0

		- 9	120 510															
Name	Gms	R	SR	Av	HS	30s	50s	W	ER	Av	3WIs	5WIs	BB	CF	CW	St	ARO	URO
Bach Tom	49	944	110.9	23.6	82	5	6	2	7.6	34.0	0	0	1/16	18	-	-	9	4
Casha T	21	230	115.0	12.8	26	0	0	3	9.3	30.3	0	0	2/33	4	-	-	2	0
Colman L	22	76	149.0	12.7	17	0	0	22	6.2	20.5	3	0	3/7	6	-	-	3	1
Coyle B	43	285	103.3	13.6	40*	3	0	39	5.9	20.9	1	0	4/18	16	-	-	3	3
D'Addazio A	39	42	84.0	10.5	12*	0	0	43	5.8	18.1	3	0	3/14	9	-	-	3	1
Dooley C	13	140	125.0	17.5	62*	1	1	17	5.3	15.5	4	0	3/9	10	-	-	0	1
Douglas H	4	0	0.0	0.0	0	0	0	0	7.5	-	0	0	0/8	0	-	-	0	0
Fairbrother S	47	900	114.7	22.0	75	11	3	70	6.0	14.0	9	1	5/17	22	-	-	9	1
O'Connell S	48	982	120.9	26.5	98*	7	5	2	4.5	4.5	0	0	1/3	7	23	6	18	4
Rodan B	8	15	71.4	15.0	10*	0	0	5	6.0	14.4	1	0	3/8	2	-	-	2	0
Shallue M	16	409	131.1	37.2	106*	1	2	-	-	-	-	-	-	0	17	3	3	1
Thomas M	17	53	79.1	17.7	27*	0	0	20	6.9	14.4	2	0	4/21	5	-	-	1	2
Wigg X	10	95	72.5	15.8	47	1	0	8	6.1	14.4	1	0	4/24	1	-	-	2	0

### Career Aggregate T20 Statistics

## TEAM RECORDS: FIFTH ELEVEN (ONE-DAY)

Wkt	Partners	Runs	Opposition	Season
1	N Fennessy & N Hodgson	228*	Melbourne Deaf	2006/07
2	N Hodgson & S Ross	184	Melbourne Deaf	2006/07
3	M Jamieson & J Parker	181	Manningham	2013/14
4	P Fisicaro & R McDowall	233*	Glen Iris	2007/08
5	R McDowall & J O'Connell	173	St Kevins OC	2008/09
6	A King & G Douglas	136	Mont Albert	2014/15
7	D Spithill & C Fraser	96*	Manningham	2009/10
8	P Mercoulia & M Pivetta	144*	St Barnabas	2002/03
9	S Ross & B David	67	Abbotsford Anglers	2010/11
10	T Beaton & M Francis	82*	East Malvern RSL	2008/09

Team's highest score	5/333	Abbotsford Anglers	2005/06
Team's lowest score	37	Heathmont	1999/00
Highest score against	373	Abbotsford Anglers	2005/06
Lowest score against	49	St Stephens Greythorn	2010/11
Highest individual score	156*	P Fisicaro vs Glen Iris	2007/08
Highest aggregate	855	N Hodgson	2006/07
Best bowling performance	6/14	E Behan vs Ashburton	2005/06
Most wickets in a season	27	N Hodgson	2006/07
Most catches in a season	16	B Mannix	2003/04
Most stumpings in a season	3	P Mercoulia	2002/03
		B Mitchell	2005/06

## TEAM RECORDS: SIXTH ELEVEN (ONE-DAY)

Wkt	Partners	Runs	Opposition	Season
1	S Camilleri & P Mercoulia	332*	Ashburton	2004/05
2	R Zambelli & E Fitzwilliam	242*	North Balwyn	2006/07
3	N Hodgson & A Teelow	174	East Malvern RSL	2005/06
4	N Hodgson & S Ross	150*	St Kevins OC	2005/06
5	S Bailey & A Dawkins	155	Abbotsford Anglers	2002/03
6	G Stewart & T Cameron	93	Manningham	2008/09
7	S Hoy & M Sexton	92*	Clifton Hill	2009/10
8	R Smith & A Webb	71*	Clifton Hill	2010/11
9	R Kimber & D Hubbard	67	Burwood	2005/06
10	N Maskiell & T Michaelides	43	Abbotsford Anglers	2003/04
10	M McGrath & T Bach	43*	Abbotsford Anglers	2004/05

Team's highest score	7/382	South Camberwell	2006/07
Team's lowest score	81	Manningham	2008/09
Highest score against	333	South Camberwell	2006/07
Lowest score against	33	Donvale	2006/07
Highest individual score	206*	S Camilleri v Ashburton	2004/05
Highest aggregate	738	J Murray	2009/10
Best bowling performance	6/15	S Hoy v Hartwell	2009/10
Most wickets in a season	38	S Bailey	2002/03
Most catches in a season	15	E Fitzwilliam	2006/07
Most stumpings in a season	4	E Fitzwilliam	2006/07
		G Smith	2010/11

## Club's Top 10 Performers

Most runs scored		Most wickets taken	wickets taken Most games played		
Player	Runs	Player	Wkts	Player	Games
John Krohn	11,992	Luke D'Astoli	508	John Krohn	539
Bernard Docherty	9,351	Basil Finnigan	424	Bernard Docherty	372
Kevin Burt	8,811	Greg Wignell	414	Kevin Burt	360
Steve O'Connell	8,795	Leigh Jondahl	376	Andrew Murray	324
Rohan McDowall	7,293	Michael Mitchell	326	Peter Lynch	321
Andrew Murray	6,631	Bernard Docherty	318	Eugene Fitzwilliam	316
Peter Lynch	6,279	Kevin Lynch	313	Kevin Lynch	310
Kevin Lynch	6,042	Mark Molloy	299	Luke D'Astoli	280
Patrick Docherty	5,957	Richard Corbett	296	Patrick Docherty	275
Tom Bach	5,951	Eugene Fitzwilliam	284	Mark Molloy	266

Most catches (non-k	eepers)	Top wicket-keeper	s		
Player	Catches	Player	Catches	Stpgs	Dismissals
Eugene Fitzwilliam	211	Kevin Burt	387	210	597
Bernard Docherty	182	John Krohn	351	79	430
Peter Lynch	128	Steve O'Connell	320	44	366
Andrew Murray	128	Julian di Stefano	275	19	292
Michael Wignell	113	Tim Allen	171	24	195
Luke D'Astoli	107	Gary Chard	144	29	173
Justin Murray	106	Michael Drew	100	21	121
Daniel O'Connell	105	Doug Baguley	80	19	99
Stuart McCulloch	103	Ben Banks-Smith	81	8	89
Stirling Rowe	103	Tim Sharpe	70	3	73
Tom Bach	103				

Mos	Most scores of 50 or more		e Most centuries		st scores
65	Steve O'Connell	17	Rohan McDowall	250*	Basil Finnigan
58	Bernard Docherty	14	Steve O'Connell	228	Mark Robertson
56	Rohan McDowall	13	John Krohn	223	Greg Wignell
56	John Krohn	12	Tom Bach	223	Ross Moore
55	Kevin Burt	11	Alan Yarwood	206*	Steve Camilleri
38	Tom Bach	9	Greg Wignell	203	John Krohn
35	Julian di Stefano	9	Basil Finnigan	190	Tom Bach
34	Andrew Murray	9	Bernard Docherty	189	Tim Allen
33	Alan Yarwood	9	Chris Hoare	188*	David Field
33	Greg Wignell	8	Stephen Ross	183	Andrew Classon

Mos	Most times 5 wickets in an innings Best bowling figures (one innings)			
29	Greg Wignell	10/52	John Aspinall	
20	Basil Finnigan	9/18	Paul Aspinall	
19	Leigh Jondahl	9/25	Greg Wignell	
17	Michael Mitchell	9/48	Chris Wood	
14	Kevin Lynch	9/69	Callum Dooley	
14	Patrick Wignell	9/82	Justin Hoy	
14	Luke D'Astoli	8/3	Peter Sandilands	
13	John Aspinall	8/25	Kevin Lynch	
12	Phil Featherston	8/27	Eugene Fitzwilliam	
11	Geoff Walker	8/40	Nick Oddy	

## Club Top 10 Performers in 2018/19

Most runs sc	ored			Most wickets taken			
Player	Gms	Runs	Ave	Player	Gms	Wkts	Ave
M Williams	13	443	40.3	C Dooley	12	42	10.9
B Coyle	13	419	34.9	X Wigg	13	26	12.3
O King	12	386	55.1	R Sallmann	12	20	12.2
A King	13	367	45.9	A D'Addazio	9	20	12.2
M Shallue	12	340	28.3	B David	13	20	13.1
P Morrison	12	326	36.2	H Douglas	13	19	17.5
Tom Bach	13	321	24.7	D Di Battista	11	15	14.9
N Cropley	10	285	28.5	A Krohn	9	15	17.3
X Wigg	13	285	21.9	B Coyle	13	15	19.9
N Fennessy	14	259	28.8	B Rodan	12	14	18.9

Most catches (non-keepers)	Wicket-keepers				
Player	Cts	Player	Cts	Stpgs	Dis
T Docherty	7	M Shallue	29	2	31
D Hando	7	F D'Addazio	23	2	25
A King	7	N Fennessy	9	0	9
Tom Bach	6	J O'Connell	2	1	3
P Brandner	6	J McKenzie	3	0	3
P Morrison	6	Tom Bach	3	0	3
B David, M Shallue	5	R Sallmann	2	0	2
H Douglas, N Evans, O King,	4	H Lasscock, B Rodan,	1	0	1
T Casha, C Henderson,	4	R Dougherty, O King,	1	0	1
L Colman, M Van Der Meer,	4	G Douglas, J Talj	1	0	1
N Cropley, M Mansour	4				

## Basil Finnigan Medal Winners

Season	Player	Votes	Season	Player	Votes
1985/86	Geoff Walker	20	2001/02	Stephen Hoy	13
1986/87	Pat Wignell	17	"	Michael Pivetta	13
1987/88	Greg Wignell	24	2002/03	Stephen Hoy	13
1988/89	Bernard Docherty	13	"	Jack Krohn	13
"	Eugene Fitzwilliam	13	2003/04	Luke D'Astoli	13
"	Greg Wignell	13	2004/05	Michael Mitchell	
1989/90	Michael Learmonth	22	2005/06	Daniel Smith	
1990/91	Geoff Walker	15	2006/07	Neil Hodgson	
1991/92	Geoff Walker	18	2007/08	Luke D'Astoli	13
1992/93	Peter Williams	12	2008/09	Alex Ross	
1993/94	James Hall	14	2009/10	Peter Morrison	
"	Chris Hoare	14	2010/11	Steve O'Connell	
1994/95	Chris Wood	14	2011/12	Steve O'Connell, Peter Lynch, Justin Murray	13
1995/96	Bernard Docherty	15	2012/13	Sam Fairbrother	16
1996/97	Peter Warcaba	18	2013/14	Peter Morrison	
1997/98	Rohan McDowall	14	2014/15	Alex King	27
"	Daniel Burt	14	2015/16	G Douglas	13
1998/99	Matthew Thackwray	15	2016/17	A D'Addazio	16
1999/00	Michael Pivetta	16	2017/18	M Williams, L Colman	11
2000/01	Luke d'Astoli	17	2018/19	C Dooley	18